Torts Outline

I. General Overview

Three types of torts


Intentional torts


Negligent torts


Strict liability torts

Four main elements of a tort – this is just generally speaking, not really important for intentional torts


Duty – duty to do something or not do something


Breach – by doing something or not doing something


Causation – causing the harm


Harm – there has to be a harm, if no harm then person cannot be liable

Purposes of tort law


Fairness/justice/corrective justice – laying blame, civil redress


Deterrence – optimal deterrence, most efficient deterrence for the lowest costs to society


Compensation – just because someone is injured, does not mean that he or she should recover.  But Ps should be compensated when they have suffered unreasonable harm.


Civil order – preventing people from taking matters into their own hands


Loss spreading – cases where the Ds benefit but other people bear the costs, tort law make that person responsible for those costs; also imposing the costs on those who can bear it

II. Intentional Torts – Physical Harms

a. Battery

i. Vosburg v. Putney: There was no implied license for the D to kick the P in the classroom so the act is unlawful.  Therefore, there was a battery.  All that is needed is intent to do the act – there does not need to be intent to cause harm.

ii. This case illustrated 3 Rules:

1. Children held liable for intentional torts – at common law, parents are not liable for the torts of their children.

2. Intention is not necessarily intention to cause the harm

3. You are liable for all damages caused, unforeseeable or not—that you could not foresee damage does not absolve you of liability.

iii. Garratt v. Dailey: the court believed the woman’s story that the chair was moved right before she sat down.  Battery is the intentional infliction of a harmful bodily contact upon another.  The court found that the kid committed a volitional act, i.e. moving the chair.  If it was shown that he had intent to cause harm, then he would be held liable easily.  But battery could also be established if D knew to a substantial certainty that the P would attempt to sit in the car, he could be found liable.  

b. Defenses

i. Consent ( Mohr v. Williams:  Doctor operated on left ear without consent. If the operation was performed without P’s consent, and the circumstances were not such as to justify its performance without, it was wrongful; and if it was wrongful, it was unlawful.

Notes:

In emergencies, consent is implied.  Here, no implied consent because the dr could have gotten it before or woken her up and gotten it after.

Athletic settings, formal and informal ( Need recklessness. 

An illegal action could lead to a tort, but if there is implied consent, the person would likely lose in court.

Can consent to a crime – S and M, consent is a defense, but not in criminal law.

Mohr discussion questions


How should surgical consent be handled when patient is unconscious?



Boilerplate Ks, family members, specific advance preferences of patient?



Broad Ks: pros and cons.  Pros:  covers a lot of possibilities, Cons: transaction costs, bargaining power, no time to sign a K, no previous relationship btw dr and patient.


When should implied consent be defense for a conscious patient?






Professional and rec sports – what are the customary activities of the game, activities that are furtherance of the game – if it customary, then you agree.



Dating and consent to sexual activity – explicit non-consent should trump implied consent, what about body language, expectations?



ii.  Self-defense ( Courvoisier v. Raymond: Two questions to ask, was P assaulting the D at the time of the shot? And if not, was there sufficient evidence of justification for the consideration of the jury?

Subjective and objective component – need apprehension and that apprehension must be reasonable.

Retaliation and provocation are not self-defense.

Recap – 

Elements of battery

1.  Intent to cause harmful or offensive contact with another person or to cause imminent apprehension of such a contact.  Offensive here is from the perspective of the D.  Also subjective.

Minority rule – (Vosburg) – strict liability where intent to commit act.

2. Harmful or offensive contact occurs – offensive refers to P’s view of the act, it is subjective.

Also on top of these subjective notions of offensive is a quasi objective standard - has to be reasonable.

Intent

Act

Contact

Harm


iii.  Defense of Property ( Bird v. Holbrook: The elements are met: intent was to catch thieves and cause harm, act was setting the spring guns, contact was the spring gun going off, and the harm was the injury.  P argues that the spring gun is not like barbed wire, spring gun is excessive and meant to cause harm.  The opinion says that the party should be liable because he did not give notice.  Had there been notice, this would be used as deterrence and probably is OK, if it were during the day so as to ensure someone saw the notice.  But if the D knew to a substantial certainty that someone would be injured then there would still be a battery.  At night, you would not expect someone to see a sign as they would during a day.  Burroughs says that you should not be able to something when you are not home when you would not be able to do this when you are home.  This is generally cited as the law, if the D did not know what he could use when he was home, then he would not be allowed to use a spring gun.

M’Ilovy case – can use force against someone to remove them who is using force on your property, but wounding is not a defense unless the person was assaulting a person.  If you have asked someone to leave and they refuse, then you can use force to remove them as well.  


iv.  Insanity Defense ( McGuire v. Almy: One defense is that intent could not be formed because D is insane, and that she should just be forgiven altogether.  Court rejects this because the court wants people to be responsible for these insane people, can’t just let them off of the hook.  If insane person has a lot of money, does not make sense to make the victim bear the burden.  

General rule is that an insane person is liable for their torts.

Policy arguments:  If the insane person is able to pay for the care of a nurse, then that person should be able to pay for the injuries they cause.  It was not clear that the D would actually hit the P, she was unpredictable, P should not have known.  Arguments against this: no fault by an insane person, cannot form intent?

Assumption of risk is not a defense in intentional torts.

v. Necessity defense (  

Ploof case: The doctrine of necessity applies with special force to the preservation of human life.  Necessity allows for entries upon land and interferences with personal property because of the inability to control certain movements.  So basically, there is no defense of property if the trespass was necessary.

Vincent case: Owners of the boat should pay for the damage in the case where the owners have a valid necessity defense.

Cases where there would not need to be payment:  if just by fate during the storm, the boat had been thrown against the P’s dock, there would be no payment.  If the lines broke and the boat hit another dock, there would be no payment.  But here, the D deliberately held fast on the dock.  

Who should bear the cost of liability?


If dock owner, then he would have the incentive to damage-proof the dock.  Who is better suited to care for the dock and prevent from damage?  The boat owners wont take precautions when they are docking because they know that they will not bear the costs.  Private ordering, docks charging money and then other boat owners will go dock somewhere else where the fee is less. 


If he boat owner bears the cost, maybe this make more sense if they are strangers and have not entered into a K relationship.  Discourage people from docking.  

Majority view – if you have a necessity defense, still need to pay for damages.

Necessity defense does allow you to inflict very small harm on another person, but pulling someone into the water would not be allowed because that is putting someone else in harm’s way.  

c. Assault and Dignitary Harms

i. I de S and wife v. W de S (1348)

Defendant came to tavern door and began striking the door with a hatchet.  Plaintiff wife stuck out her head to tell him to stop, and he struck again with the hatchet but did not touch her.  

The court said that there was an assault and the Ps should recover damages.

Could sue for trespass, trespass of chattels for damage to the door, and battery, but battery would not work because there was no contact.  

Policy arguments for assault – discourages apprehension of harm, protect people from mental distress, discourage socially unacceptable behavior.

For assault, there does not need to be intent for contact, just intent to do something or instill fear of a contact.  Here he intended to scare her into opening the tavern door. 

R2d 21


Actor is subject to liability for assault if he acts intending to cause a harmful or offensive contact with the person of the other or third person OR an imminent apprehension of such contact.  The other is thereby put in such imminent apprehension.

Part 1 - Basically, an attempted battery but he missed so it becomes an assault.

Part 2 – planned to scare or cause apprehension.

Part 3 – apprehension of contact of other person.

Breaking down the elements


P must show act, intent 


Apprehension results

Fear vs. apprehension


Fear is more subjective or implies that there is doubt as to whether the actor’s actions with be carried.

Some jdx requires that the person  be actually scared.  The R2d say that there just need to be apprehension of contact.  

ii.  Tuberville v. Savage, England 1669
Action for assault, battery, and wounding.  P said “If it were not assize-time (judge in town), I would not take such language from you.” (self-defense)

Court said no assault because the P said he would NOT commit the assault, no imminent apprehension of a contact. 

Even if one intends to assault and misses, there is still an assault.

May be different if the man actually drew his sword, more of an argument for imminent apprehension.

Blackstone:  Assault is an attempt or offer to beat another, without touching him.***

d. Offensive Battery

i. Alcorn v. Mitchell (1872)

1. We have already talked about offensive battery but some people bring it as a separate tort.  

Appellant spat in the face of the appellee following the adjournment of a trial between them.  The court held that this was a very offensive action and judgment affirmed for him being liable.

Hypos – suppose the D spat at the P but missed.  No contact so no offensive battery.  But could bring assault.  

What if the person does not see the spit coming?  No apprehension.

What if someone told him that he was spat at?  Still no apprehension, no ex post facto apprehension.

What if the person did not see but was hit and told by others?  Can bring offensive battery.  

e. False Imprisonment

i. Bird v. Jones (1845)

1. Part of a public highway was blocked off for a boat race.  The P wanted to go through that way but the D would not allow this.  P was free to go in any other direction.  Court held that this was not imprisonment because he was not restrained in any way and was free to go in another direction.

Elements

False imprisonment tortious conduct:


Words or acts by D intended to confine P


Actual confinement


Awareness that P is actually confined

ii. Coblyn case 

1. P was shopping in D’s store.  When he went to leave, D’s worker thought he had shoplifted an ascot.  P was an old man and he had to be hospitalized because the incident caused him to be very upset.

Procedure – jury awarded P $12,500.

Rule – if a man is retrained of his personal liberty by fear of a personal difficulty, that amounts to a false imprisonment within the legal meaning of such term.

The court adopts an objective test – look at reasonable person standard.

Different from Bird case, there the court said there needed to be actually confinement that is not voluntary, but duress here is enough.

D raises a defense as to a merchant statute – court says that there is no reasonable ground to think the P was stealing.

Merchants can defend their property and there are instances where imprisonment is OK because of defending someone’s life.  

Herd case – if there was an unreasonable delay then maybe there would be a false imprisonment claim.

False Imprisonment hypos

1 – don’t leave, it will break my heart?  NO.  Emotional duress is not false imprisonment.

2 – front door locked but back door is locked?  NO.  has an alternate route, not actually confined.  If he does not know the back door is open then unclear.

3 – all doors locked but Joe does not know?  No awareness of confinement.

4 – he says he does not want to leave?  Consent so no false imprisonment.

f. Intentional Infliction of Emotional Distress

i. Wilkinson v. Downton (1897)

Facts:  D told P that her husband had been in an accident but it was a practical joke.  The P became in a state of nervous shock, producing vomiting, and other serious ailments.  P sued for fraud and deceit.

Trial court - P was awarded money for the cost of transportation to bring her husband home and money for mental shock.  The mental shock money was challenged.

There is an act, there was harm, but no intent to cause harm is imputed on the D.  Question is should it be imputed on him.

Issues:  One question is whether the D’s act was so calculated that an intention to produce it should be imputed on the D?  Another question is whether the effect was too remote to be regarded as a consequence for which the D is answerable?

The court says that there are no precedents for emotional distress but that there should be grounds for this kind of action. The court says that being reckless is enough to show intention (lower standard than most torts).  Also, this is not too remote, take the victim as you find him.

Parasitic damages – if there is no other tort that can be brought, then IIED should be a separate tort that can be brought.

IIED


D engages in extreme and outrageous (fact finding question)


Intentionally or recklessly causes


Severe emotional distress to the P.

Exception to the reasonableness of extreme and outrageous conduct – if the D knows that the P is susceptible to emotional distress.

Third party suits


Family members who are present, and all other persons present if they experience bodily harm can sue for IIED

Note: sexual harassment statutes vs. torts

III. Negligent Torts and Strict Liability Torts – history and policy

a. Negligent torts: behavior that unreasonably risks personal and property injury to another and does cause injury. (limits: fault and causation).

b. Strict liability torts:  behavior that is tortious because it causes unlawful damage to another, regardless of fault. (limits: causation and privilege).

i.  Background cases

Weaver v. Ward

Kings Bench 1616

Soldiers were playing war games/doing war exercises with their muskets, D accidentally shot and wounded P.

P brought a trespass claim for assault and battery.  D would not be liable if a third party takes the gun and shoots, if it is the P’s fault, or if it was an inevitable accident.

Inevitable actions


Where D could have done nothing to stop the injury, D is utterly without fault.  D would have this burden, it is an affirmative defense.

This is the outlook of Weaver, somewhat different now in modern tort law.

Brown v. Kendall

Mass. (1850)

Facts:  Dogs were fighting.  D went in with a stick to break them up and accidentally hit P in the eye.

Issue:  Under what qualifications the party whose unconscious act the damage was done is responsible for it? Can there be liability if there was no intent?

Rule:  Either the intention was unlawful or that the D was in fault, for if the injury was unavoidable and the conduct of the D was free from blame, he will not be liable.

Application:  Appears that the D was doing a lawful act (D had a right to try to separate the dog fight) and unintentionally hurt the D (not negligent, used ordinary care), but left for jury to decide.  New trial ordered.  

Ordinary care – varies in circumstances, but generally what “prudent and cautious men” would do under the circumstances.

The lower court instructed to jury that there needed to be extraordinary care, but this is an unfair standard.

If D has no fault, then no liability.

If both P and D are at fault, then no liability.  (old rule for contributory negligence, complete bar at recovery)

D is only liable when he is at fault (violated ordinary care) and the P is not at fault.

Brown brings us this fault-based notion

Holmes, the CL


**Holmes prefers negligence standard, fault based:  going through the lecture

Common ground of liability in tort: what we can base all tort law on 

Finding common ground is justifying why it is a single body of law (unified field)

Holmes talks about two standards in this lecture:

Austin – negligence standard

Person who acts – strict liability

Basic justification for holding people liable in breach of contract=explicitly agreed to do so 

Tort=independent of any previous consent of the wrong-doer to bear the loss occasioned by his act 

· In contracts, justification for holding liable is that they agreed 

· In criminal and tort, it is different: has to do with social value and social judgments 

He is showing the transition from the old to the new—he is favoring the new; saying how great it is

Used to have weird procedure in England—Holmes: I am going to pick out the sensible strains and show why they should be applied

Case: Trespass on the Case—indirect action against another person; Ploof v. Putnam would be 

an example of case 


=have to show negligence, carelessness 

Writ of Trespass—issues involving one person battering the other, etc.=direct action 

against another person 


=most actions of intentional tort are actions under trespass; don’t have to show 

negligence 

Hard to predict with certainty whether an action will result in liability or not 

When we look at defendant’s behavior, can’t predict whether liable or not because we don’t know whether there is harm that came from his actions (formal realizability out the window?)


--Fire caused both by lightening and a smaller fire started by another person.  The person 

who started the fire will not be liable

=Behavior will not necessarily result in liability, hard to know what the consequences will be.

Long line of causation, every behavior would become a potential cause ( this is why strict liability is bad**

Negligence, at first blush, is a Whittier approach

Writ of trespass, at first blush, is a Harper and James approach (things Kelsey’s class talked about but we did not)

Trespass—refers to writ of trespass, which involves both intentional and unintentional wrongs

Lets boldly step up to trespass 

By calling it a penumbra separating the two (between trespass and case), he is saying that a person’s action falling on one or the other shouldn’t determine liability 

--There is no reason to divide these; to give a different outcome (liability) whether an action falls on one side or the other is not right

The way we treat trespass should be the same way we treat case.  There should be no different; they must be the same

Going to show that the unintentional cases that fall under trespass, the liability standard should be negligence 

2 theories of liability: 

1. One we associate with Whittier: liability is related to what you do wrong; based on personal fault


-- Austin (a criminalist) was in favor of a subjective view that took into account the state of the person’s mind—we are going to blame the defendant based on his own intent


--Austin goes further than what Whittier would have 

2. Voluntary Act sufficient for liability—like Harper and James (strict liability)

Changing form of law, not substance; part of modernization of procedure

Recognizes that innocent trespassers and converters are liable because we care about protecting property

But, we care about the plaintiff’s wellbeing—we need to be concerned with people’s body, because this is more important than property

If innocent trespassers are liable, why not innocent batterers be liable

Many people had assumed that an innocent batterer was liable.  He is saying that, instead, the standard for unintentional injury is negligence; once you accept his, well on your way to understanding.

Insurance – only want to hold people responsible for their neighbors if they have acted unreasonably – p. 127 ( notion of corrective justice

Epstein likes SL, but he limits this to the stranger context, like in the case of a car accident.

Compare to Vincent case: between these parties, does Epstein think SL should apply.  NO, they have a relationship so SL should not apply.  Parties that know each other or enter into Ks, they are able to negotiate for risk-shifting.  

ii.  Economic model of tort law


This has been the dominate discourse in tort law for the past 40 yrs.  It is unavoidable.  

Kaldor-Hicks efficiency


The concept is that we want to promote economic efficiency, we want society overall to be wealthier.  Assumptions that are made in the economic theory – people are rational and everyone wants to maximize their wealth, but this is problematic because it assumes this to be true.

Two people with 50 units each of welfare, one loses his amount and the other maximizes it to where it is more than doubled, this model would say that this is efficient because society has a greater pot.  

Pareto efficiency


You make society better off without making anyone else worse off. 

Who is it fair to make pay for liability?  Who should be responsible for taking precautions?  

Drivers vs. pedestrians, pedestrians because they only have to look both ways before crossing the street.  But if someone is going very fast, then there is nothing the pedestrian can do.  

Coase Theorem


Liability rules for tort law don’t matter that much because parties will bargain around them, example – buying insurance, agreeing for one party to build a fence, etc.

Calculating likelihood of harm and injury.

What is lost by this law and economics approach?


True sense of justice, things that do not have a number value, too much averaging, sense of duty and obligation to others.

Stone v. Bolton

Kings Bench (1950)

Facts:  P was struck by a cricket ball where he lived across from cricket field.  She alleged CL negligence and public nuisance.  At trial, the court found for D on both counts.  Here, C of A reversed on the negligence count.

This was the furthest ball in a 30 yr period.  Six or seven balls went over the fence during that time, which is not very often.  P sued the owner of the field, and not the batter or the batter’s team.  There is argument that the batter was negligent because it is better to keep the ball on the ground and not to hit it up in the air.

Issue:  Whether there was reasonable foreseeable risk of the ball striking the P?

The court reasoned that there was a duty on the part of the D to prevent the accident and there was a foreseeable risk.  There should be no assumption of risk on the part of the people who live in the town.  The court here applied the negligence standard, the court looked at what the field owner should have seen as a risk.  No precautions were taken and there is always the option of not playing on the field if there is a lot of risk.

Bolton v. Stone

House of Lords (1951)

D then appealed to the House of Lords.  

Issue:  Whether the risk to damage to a person on the road was so small that a reasonable man in the position of the appellants (D), considering the matter from the point of view of safety, would have thought it right to refrain from taking steps to prevent the danger.

Court looks at how remote the chance of someone being struck and how serious the consequences would be if someone were struck.

The court reasoned that the standard is ordinary care and here is appears that ordinary care was taken.  A reasonable man would not have abandoned the field or made the fence higher, a reasonable man would have done nothing.  

Reid – there needs to be more than just foreseeability for negligence to apply – look at how remote the risk is and now serious the consequences.  If there is a substantial risk then cricket should not be play.  But here the court says that this is a fact determination and that this was so unlikely to occur and the damage was not that serious.

Radcliffe – talks about duty, says that P should be paid to be fair.  But the D is not legally culpable, and this is the standard that must be examined.  The D illustrated ordinary care.

Compare to Ford Pinto case – Reid would make a distinction btw these cases because the severity of burning in a car is much more than being hit with a ball.  Also, Ford was promoting its product whereas playing cricket is just something that people like to play. 

Corrective justice – notion that a person has a right to not be harmed, when someone interferes then you have a right to compensation.  

IV. Negligence Issue

a. Elements

i. Duty

ii. Breach

iii. Causation

iv. Damages

b. Five way of proving breach

i. Balancing

ii. Common Sense

iii. Custom

iv. Statutes (negligence per se)

v. Res ipsa loquitur (inference of negligence)

(1) Calculus of Risk (balancing)


Has a common sense and economic meaning


Blyth v. Birmingham Water Works

(1856)

Facts:  A large quantity of water escaped from the neck of a water main and caused damage to the P’s home.  There was a really bad frost, comes along every 25 yrs or so.

Issue:  Whether the company had used proper care to prevent the accident?

Procedure:  Trial court found for P, D appealed.

Rule:  The D might have liable for negligence if unintentionally they omitted to do that which a reasonable person would have done, or did that which a person taking reasonable precautions would have done.

Application:  Alderson - These facts indicate an accident or contingency, no liability.  Bramwell – Ds were under no obligation to remove ice and snow or keep the plugs clear. He also says that the P could have removed the ice and snow, but that seems weird because it was city property.

The pipes freezing would be foreseeable, but that does not mean that they are on the hook.

Compare with Hurricane Katrina, levees broke vs. fire plug breaking

Should we have a system like the nertherlands?  Once in a lifetime situation, plan for the worse and have it ready no matter what.

How do we balance btw preparing for the average disaster and the worst?

Eckert v. Long Island

43 NY 502 (1871)

Facts:  Man saved child from being hit by a train, but was killed in the process.  His estate is suing that the railroad company was negligent in causing the death.  There was no signal from the train, and no guard.  D argues that the man put himself in that situation aka contributory negligence (which back then was a complete defense)

Procedure:  Found for P, affirmed by SC, then D appealed.

Issue:  whether the P was contributorily negligent?  The jury had found that the RR was negligent.

Saving property vs. saving a life – majority found that the P was not negligent in bringing about his own death.  Saving a child was not wrongful and he had a duty to rescue the child.  If he had not rescued the child, could the family have sued him?  NO, but the court means a moral duty to save the child.  

What if there was a cat on the track?  Not as valuable as a human life so the P would be contributorily negligent in saving a cat.

What if the P just wanted to cross the track?  No real justification for doing that.  This comes into play if we are doing the balancing approach.  Policies of saving kids vs. no policy for using short cuts to get home.

Dissent – P did this at his own risk.  Is this convincing?  

Jury would ask about what a reasonable person would have done

Hand formula could make the jury’s work more systematized

Osborne v. Montgomery

Wisconsin (1931)

Facts:  P served as an errands boy for a newspaper.  D stopped his car and opened door, which knocked P over while riding his bike.  

Procedure:  Lower court found the D was negligent and the P was not contributorily negligent.  Awarded P with 2500 dollars.

Rule:  Ordinary care

Application: court says look at the balance of social interests.  People should be able to drive around and we cannot always worry about people being splashed by the car or someone opening a door and being knocked over.  As long as the driver exercised reasonable care then he should not be liable.  Reversed and remanded on the question of damages.  

Cooley v. Public Service Co.

NH 1940

Facts:  P was using phone when a loud noise came through and he suffered rare physical consequences.  

Procedure:  P filed suit against phone company and power company.  Court found for phone company but against power company.

No claim that the negligence of the D caused the wire to fall.

Remote danger

D cannot do too different things – cannot keep street level safe and house safe.  Balancing approach to figuring out liability.  Noise in the ear vs. being electrocuted on the street.  

If 1000 people have ear injuries, do we change the structure at the cost of one life being killed because of electrocution??

Court found for D. Judgment reversed and remanded.

US v. Carroll Towing Co.

Second Circuit 1947

D tug was moving a line of barges in and out of NY.  The Anna C broke away from the line and hit a tanker.  The Anna C was damaged and started to leak.  So the barge sued the tug boat.  The tug boat defendant claims that the P was contributorily negligent because no one was on board on the barge.

Issue:  Should a bargee have been kept on board the barge?

Judge Hand established this formula – whether B is less than PL.

B is the burden, P is the probability and L is the injury/loss/severity of the harm.

When B is less than PL, and no precautions then NEGLIGENT

When B is greater than or equal to PL then NOT NEGLIGENT

Burden – paying the bargee to stay on longer

P – if its crowded then more likely to be harm

L – hurting people, hurting other boats, do we use the worst case scenario???  Hand does not tell us.

Court held that there should have been a bargee on board during the daylight hours, which probably would have prevented the damage.

If there was a K btw the tug and the barge – there could have been an express provision that says the bargee needed to be on board for a certain amount of time.

What if the court had adopted a SL approach in this case?


Barge owner would probably be taking more precautions because if there is an injury and causation, there would be liability.

Using the negligence standard, the person would just do enough to keep probability down so they would not be held liable.

Applying this formula


Blood bank hypo – how do we quantify things like invasion of privacy??? How do we quantify the worth of a life?


McDonalds coffee case – burden on McDonalds to take precautions versus severity of being burned and probability of being burned.

(2) Reasonable Person Approach (common sense)

Should we have different standards for men and women?  Maybe in sexual harassment cases.

Exceptions to Generic Reasonable Person


Woman


Physically disabled


Mentally ill or disabled


Children


Special expertise or knowledge
Vaughan v. Menlove

1837

D had a haystack near the boundary of his property and the Ps.  Fire broke out and burned down the P’s cottages.  

Issue:  Whether the fire had been caused by gross negligence (RP standard) on the part of the D?

D wanted the standard to be that he acted to the best of his own judgment (subjective standard).

Lower court found for P.  D appealed.

Rule:  A man must so use his own property as not to injure that of others.

D is liable.  He was aware of the risk, he was warned by others, yet he said that he wanted to take that chance.  

Roberts v. Ring

Minn. 1919

7 yr old boy collided with D’s car.  P, family of the boy, sues.  Jury found for D and P appeals. 

They found the boy contributorily negligent because he was held to the standard of an adult. 

Order revered.  The court reasoned that the boy should be held to the standard of a child, not an adult.  There was evidence that the old man driving the car had some sigh and hearing problems.  The court also said the D’s care should be measured by the standard of an ordinarily prudent man, not the standard of an old man.  The court does not want to excuse injury to another person because that person is a kid and also when the drive was likely negligent.  

Some other courts hold the kid to a lower standard even when the kid is the defendant.  Roberts does not go that far, but see Daniels.  

Daniels v. Evans

NH 1966

19 yr old on motorcycle was killed when hit D’s car.

Court held that a minor operating a motor vehicle must be judged by the same standard of care as an adult.

A person driving a motorcycle needs to have a license and know the laws of the road.  Takes it away from a child-like activity.

Compare to an activity like skiing – no license needed but can still be hazardous.

So where there is special expertise or knowledge, the standard of care is raised.  Drs and lawyers are often held to a higher standard.

Breunig v. American Family Insurance Co.

Wis 1970

Woman was driving and he all of a sudden had a delusion that God was talking to her and she could take flight.

Jury in lower court said that the woman had forewarning of her condition and awarded the P money.  The D insurance company appealed.

Issue:  Whether the woman had such forewarning of her mental delusions to make her negligent in driving a car at all under such conditions?

There was evidence that he knew he had delusions.

Should we hold mentally ill people to a different standard than the reasonable person standard?

Some insanity can be a defense if the person has no culpability.  If not at fault, then cannot be negligence.  Also, to be a defense the person must not be capable of understanding the duty and there must be no notice of forewarning.  The court said that the general rule that no insanity is a defense is too broad.
Fletcher v. City of Aberdeen

Wash. SC 1959

Blind man was walking along the street and fell into a hole on the street that was being worked on by construction workers.  The lower court concluded that the city was negligent and the city then appealed.

The city challenged that the jury instructions were wrong.  The city wanted the instruction to say that they did not need to show a higher standard of care because the P was blind.

The court reasoned that the city needs to protect anyone, including people with physical disabilities.  But the blind man does not need to exhibit extra care, but just the standard care that a reasonable person in the same circumstances would use.***

Robinson v. Pioche, Bayerque & Co.

CA (1855)

The fact that the P was drunk does not excuse the city from being grossly negligent.  Drunk people are entitled to same safety as a sober person.
(3) Custom


Can be what is normally done in an industry, trade usage.  This should be the standard of care, according to Epstein, but Rothman thinks that it should not.

Titus v. Bradford B & K.R. Co,

Pa (1890)

P’s decedent died while working on the D’s RR with Nypano cars.  One of the cars tipped over and the man tried to jump out but could not in time and was killed.

Lower court found for P because they said that the cars that the RRs used could not properly be secured.  The D argued that this was the usual custom among these narrow gauged trains.

Appeals court reversed finding no negligence on the part of the D.  This type of work was dangerous and the business used the same procedures as other RRs in the industry.  So what is ordinarily done becomes the standard of reasonable care.  Conformity with custom is a complete defense. And also the P was an employee so he should of been aware of the dangers.

Mayhew v. Sullivan Mining Co.

(1884)

P was working in a mine and there was a bucket hole with no railings or safeguards.  P fell through hole and got seriously injured.  

Lower court found for P, finding that the mining company was negligent.

Appeals court affirmed that custom here was irrelevant because the company was grossly negligent.  Custom here cannot even be admitted into evidence.  Epstein thinks that this is dead wrong.

TJ Hooper

SDNY (1931)

Lower court found that the tugs should have had radios onboard and were therefore unseaworthy.  The claims by the cargo owners should be allowed.  The tug owners said that it was customary for most boats to have radios.  Here, there was non-conformity with custom as a basis for liability.  The D appealed.

2d Cir. 1932

Judgment affirmed.  Court talks about difference btw the crew having the radios versus the owners having them.  It was not the owners who normally supplied the radios, it was the crew.  So the owners are arguing that the custom was not to have radios and therefore they should not be liable.  But Hand rejects the owners’ arguments and basically says that there is no custom at all. And because it would be a small cost to supply radios and they would be easy to keep up then they should have had radios on board.  Just because someone is in line with custom does not mean that they are not negligent – Hand thinks that custom is not despositive, but it can be relevant.  Custom can be evidence that what was done was reasonable or not.  Evaluate whether the custom is still the best approach.  

Pros and Cons of Custom

Pros ( certainty and framework, predictable, expertise (better to be able to know the burden, probability), expectations, decreases litigation costs, tested, market efficiency

Cons ( no incentive to innovate, just bc everyone else is doing it doesn’t mean its optimal, inequalities in bargaining and market power, lock-in (psychological aspect), not fact specific, evolution/changes over time.

Evolution – might save money to adjust to changes in technology, increase competition and make the field stronger.

Generally, today the TJ Hooper/Hand compromise is the rule.  Custom is not despositive, but it is admissible. ***

Medical Malpractice – trend toward increasing litigation of medical malpractice and because of that insurance premiums have gone up significantly.


What should be the standard of care that doctors should provide?  Be thinking about this as we discuss these cases. 

Lama v. Borras 

(1st Circuit) (1994)

Facts:  Ps Lama had two surgeries for back pain.  Following the second surgery, he was in a lot of pain and his bandages were soaked with blood.  Another doctor diagnosed him as having in infection in between his discs.  Patient did not undergo bed rest or conservative treatment prior to surgery, and conservative treatment can often remove the need for having surgery.  P filed this action against his doctor and the hospital.  

Procedure:  Defendants appeal from a jury verdict finding them liable for medical malpractice to Ps.  Jury awarded 600k.  Court of Appeals affirmed here.

Rule:  Puerto Rico law – P must demonstrate that the basic norms of medical care (looking at national standard for that specialty), proof that the medical personnel failed to adhere to these basic norms, and a causal relationship between the act or omission and the injury (foreseeable harm).

This is a custom approach basically

Could we also use a pure common sense – wouldn’t a reasonable person expect antibiotics, and a non-invasion treatment before going to surgery?

Balancing approach – probably could get statistics on likelihood of infection and probability, maybe not on severity of harm.

What happens if the custom becomes disfavored ( would have to show that a substantial amount of doctors who are using it.

Application:  The standard norm would have been to for the patient to first undergo conservative treatment with a period of absolute bed rest.  The doctor here did not require the patient to do this.  Causation is more problematic – but the jury in the lower court found that the doctors failure to administer conservative treatment was the most probable cause.  Ps claim against the hospital is also affirmed because the hospital did not have good record keeping and led to the late detection of the patient’s infection.  

Brune case – Ds argued that that is how they do stuff in New Bedford, that it is a locality rule. The court rejects this, that there needs to be a national standard for general practitioners.  For specialists, they definitely need to follow a national standard.  There is some allowance made for the type of community in which the physician carries on his practice.

Arguments for and against applying custom vs. common sense reasonable person standard


Custom should govern ( Doctors and people in the medical field know more about their practices than the average person, doctors presumably want to help people, doctors are presumably keeping up with changes in technology. Doctors need some guidance in order to avoid being sued for medical malpractice.

Helling case – break from custom


32 yr old diagnosed with glaucoma.  P sued on the grounds that her dr did not give her the pressure test.  The court rejected the argument that the test is not given to someone this young, because the judge argued that the test is so imperative. Custom is altered, and now everyone gets tested.

To show negligence, B would have to be less than PL.  You could do a balancing approach, look at cost of administering the test, the likelihood of being able to diagnose the problem, and the severity of the harm (cost of loss of vision).

Common sense – someone complaining of her eyesight should probably have been given this test.

After Helling, there was an outrage.  WA passed a law overruling Helling and courts have not liked Helling.

Informed consent – what risks need to be disclosed, example - what information do you need to get a vaccine? For cancer treatment?  If someone is not informed of these risks, should they be able to sue?? 

Canterbury v. Spence

(DC Circuit) (1972)

Facts: P was experiencing back pain and went to see the D doctor. Doctor did not tell the patient about the risks of the operation, including paralysis.  After surgery he was allowed to void unattended, but he slipped and fell and became paralyzed.  

Procedure:  Lower court found a problem with causation and found for the D.  This court reversed.

Duty to disclose – there must be a reasonable divulgence to the patient to make the best informed decision possible.  The jury can determine whether there should be a disclosure, they can put themselves in the position of the reasonable patient.  This is why custom should not govern, custom is not dispositive.  The court is not sure that there even if a custom here.  

Patients should be able to control their own body and they can only do this if they are informed of the risks.  


What should be disclosed?



Material risks



The test is really, what should be reasonable disclosed?


Exceptions – in an emergency context, if not a material risk, if it would be detrimental to the patient.

(4) Negligence per se 

Presumptively negligent – without the P needing to prove that there was negligence beyond that (no reasonable person standard), but still need to show causation and injury.

Some statutes will tell you what you can do and what remedy – express rights of action

Others do not – this is where negligence per se comes in, presumption that the D was negligent by just violating the statute.  Courts can infer a right of action.

Osborne v. McMasters

Minn 1889

Facts:  D sold bottle to P’s intestate without it being labeled.  It was poison and the intestate drank it and died.  P sued.

D argues that there is no right of action at common law for not labeling the bottle.  The court rejects this and judgment affirmed.  

Rule:

Statute requires D to engage in certain conduct

Defendant fails to conform 

P within class o those for whom statute was enacted

Statute enacted to prevent injuries of the character which the statute or ordinance was designed to prevent

Failure to conform to the statute was cause of the injury

Gorris v. Scott case – sheep are not fenced in and they fell overboard. The reason for the statute was to prevent disease among the animals.  Court denied the Ps recovery.

If statute was expanded to cover them falling over, then maybe there is a stronger argument for negligence per se.

Burden shifts to D to rebut the presumption of negligence – he can assert the exceptions


Tedla case – case is made that the Ps were negligent per se.  But the court gave them an excuse and found that they were not contributorily negligent.  If the risk is greater when complying with the statute then there is an excuse.  

Excuses for negligence per se – Rtd Section 15


(e) applies to Tedla case

Also includes, that the violation is reasonable in light of person’s childhood or disability

An actor's violation of a statute is excused and not negligence if:  Rtd Section 15


(a) the violation is reasonable in light of the actor's childhood, physical disability, or physical incapacitation;


(b) the actor exercises reasonable care in attempting to comply with the statute; 


(c) the actor neither knows nor should know of the factual circumstances that render the statute applicable;


(d) the actor's violation of the statute is due to the confusing way in which the requirements of the statute are presented to the public; or


(e) the actor's compliance with the statute would involve a greater risk of physical harm to the actor or to others than noncompliance.

Martin v. Herzog

NY 1920

Driver of buggy without lights hits Ds car.  Driver was killed.  Lower court did not allow instructions about Ps negligence in driving without lights on. Appellate court reversed that the P was negligent.  But still look at Ds negligence.

Martin hypo – 25 mph, you are driving 28, and you hit kid.  Negligence per se?  Need to find out if there was a causation problem.  If you were going 25 and still would have hit the kid, then the breach did not cause the injury.  

Brown v. Shyne

NY 1926

D had no license of practice medicine and P was injured after receiving treatment from him.  Lower court found for P in the amount of 10k.  

Majority opinion on appeal said that the lower court’s instructions were wrong, that violation of the statute cannot be used to infer negligence.  There needs to be something more to show a direct cause.

Crane – says the D violated the statute and there is causation.  Point of the statute is to inform people about their physicians and an untrained doctor is likely to cause harm as opposed to a trained doctor.

NY later overruled the majority in Brown – p. 238

Note – negligence per se is purely evidentiary, it goes to showing that the D was negligent, don’t need to show the reasonable standard or that the D fell below it.

Non-conformity with a statute is a basis for negligence per se, but conformity does not insulate you from negligence.  

Brown hypo – problem with causation ( like majority in Brown.  But if she had not been driving, the injury would not have occurred ( like dissent in Brown.   But still a causation problem, the renewal of the license was not the cause of the injury.

(5) Res Ipsa Loquitur


Best way to think about this is in the Byrne case ( to get an idea of what it means.

Byrne v. Boadle

England 1863

P was walking by the Ds place, a barrel fell out of the window and hit the P.  P sued.  Jury found for P but trial court overruled that.

What arguments, that other then the Ds negligence, could have caused this?


Not much, maybe a third party did it or a products liability

But the mere fact that the barrel fell was evidence of negligence – this is res ipsa loquitur.  Courts usually need 50% likelihood that Ds negligence was the cause in order to use this.

Prosser (CL)


The event must be of a kind which ordinarily does not occur in the absence of someone’s negligence.


Must be cause by an agent or instrumentality within the exclusive control of D


And it must not have been due to any voluntary action on the part of the P. (was the Ps action a cause, not the same as CN).

R2d – similar, only does not have the exclusive control part, but says DUTY.

Larson case – guest throws out chair of hotel room.  No control by the hotel over its guests.  But is there a duty here under the R2d ( precautions would be expensive, but the hotel has a duty of reasonable care for itself but not to controlling the guests.

Hypo 1 – yes, generally a car would not roll away unless the person was negligent in putting on his parking brake.

Hypo 2 – probably not RIL, could be a defective brake.

Hypo 3 – no, less than 50% chance.

Hypo 4 – yes, more than 50%.

Hypo 5 – driver swerves and hits pedestrian. RIL?  Maybe, depends on what caused him to drive over the line.

Hypo 6 – Soup and nail hypo – maybe the soup company does not have exclusive control over the soup can at the time the nail was bitten.  Under the R2d, there is a duty to make sure that there is not a nail in the soup.

Exclusive control element has been liberalized, can was not touched by anyone else so still in exclusive control (minority still follows strict interpretation).  Broad exclusive control and duty is somewhat hard to distinguish.  But EC is the minority as a whole and duty is the majority.

Probability of Negligence and RIL


Prob that negligence caused the harm is 2/3 ( more than 50%


Prob that negligence belongs to the D is 3/5 ( more than 50%

Some courts separate these out, and each would be more than 50% so there could be a RIL instruction.

Some put them together, and then it would be less than 50%, and it would not make sense to give a RIL instruction.

Ybarra v. Spangard

CA 1944

P underwent surgery for appendectomy, when he woke up from surgery, he had a lot of pain in his shoulders.  

P cannot provide evidence as to who was responsible for the injury.  So that is why he needs the RIL.  Also, the conspiracy of silence ( won’t testify as to who was negligent.

Why cant the hospital just be the D?  Not everyone worked for the hospital.  Also, there are a lot of different people involved in the surgery.

Court says there can be a RIL even though there are more Ds who don’t really work at the hospital.  The court does this because of the conspiracy of silence and it would leave the P in a bad place.  Also, it not holding the Ds, then they could always get off.  

Multiple D rule has not really been used outside of the medical field

c. Affirmative Defenses

i. Contributory Negligence

Basic Doctrine


CN was a complete defense, if the D could establish that the P was CN, did not matter if the D was also negligent.  

Three different ideas when thinking about negligence


Ps CN is a complete bar


Ps conduct does not matter if D was also negligent


Should be apportioned

CN – P has run an unreasonable risk against herself or himself

You could be both contributorily negligent and negligent

Butterfield v. Forrester

Kings Bench (1809)

D had put up a pole on his side of the road for the purposes of making repairs.  P was riding his horse violently and fell off because of what the D did.

Lower court found for the D.  P challenged the whole CN idea and wanted a different jury instruction.

On Appeal, the court found that the injury was entirely due to Ps own fault, he was not paying attention and if he had been, he could have avoided the incident ( Bayley.  

P needs to use ordinary caution as well, and if he doesn’t he cannot just cast blame on the D ( Ellenborough.  One cannot throw himself upon an injury by being careless and then take no blame.  

Judgment affirmed.

D has the burden to show that the P was CN.

Beems v. Chicago, Rock Island & Peoria RR

Iowa (1882)

Intestate met his death in making an attempt to uncouple the tender from a car.  The RR cars were moving at an unusual rate of speed.  

Even if Ps foot was caught between the cars, it does not meant that he cannot recover if the D was negligent.  Ds are arguing that if the foot was not stuck then the P could have escaped.  

Regardless of where Ps foot was, D is liable if he was negligent.  

This raises come causation issues – Ds are claiming that their negligence did not cause the injury.  The court is fairly lenient in trying to not find negligence on the part of the P.

Gyerman v. U.S. Lines Co.

CA (1972)

P was a longshoreman and was injured while unloading fishmeal sacks.  

Trial judge found that the D negligent and was the PC of the Ps injury, but that the Ps negligence barred his cause of action.  

On appeal, the SC looked at the Ps CN

CN is conduct on the part of the P which falls below the standard to which he should conform for his own protection and which is the legally contributing cause co-operating with the negligence of the D.

Burden is on the D 

Custom is admissible – this would be a good way of looking at negligence because there was a set way of stacking the sacks.  Also, P could have complained up the chain pursuant to his K and being a part of a union.

Application:  P did not create or maintain the dangerous conditions.  Nothing was shown that the conditions would have changed if the P talked to a supervisor.  

Court concluded that D did not meet the burden of showing Ps CN, failing to report was no sufficient to show CN.  Judgment reversed and remanded on that issue.

D still needs to show that the Ps negligence caused the injury or contributed to the cause, not just that the P was negligent.  In some situations, like emergency or emotional situations, there will be more leeway in looking at Ps negligence.

CN does not apply in intentional torts or willful or wanton conduct.

Fuller v. Illinois Central RR

Miss. (1911)

Old man was hit by a train, the man did not see the train coming and the train did not slow down at all and barely gave warning.  The train was trying to make up time and so it was speeding.  The D was negligent but what about the P?  P did not stop, look, or listen, which was the rule at the time of the case.  So the P was negligent.  

Lower court found for the D.

Rule: last clear chance rule


Even if the P was negligent, if the D had the last clear chance to avoid the harm, then the D will be liable.

Davies case – donkey incident

Here, the train could have avoided the incident and therefore, regardless of the Ps negligence, the D is liable.  Judgment reversed and remanded.

ii. Comparative Negligence


Suppose there is a car crash and the P is not wearing a seatbelt and is injured.

P’s negligence could be asserted using negligence per se, there is a seatbelt statute – P is within the scope. But most statutes like this say that it cannot be used as a basis for negligence.

Also, causation problem – need to prove that not wearing the seatbelt caused the injuries.  

Other than these ways, how else can we show the P was negligent by not wearing a statute?


Common sense approach and balancing approach (look at burden of wearing seatbelt)


Custom – although not dispositive, could discuss.  Non-conformity with the seatbelt custom is greater in showing Ps negligence.

CN was increasingly criticized from the 1950s on for being too strict and arbitrary, when does the emergency rule come in, etc?

So now most of the states have gone to the comp n approach, either pure or modified.  

If Ps negligence is more than 50% then still a complete bar for recovery.

Discussions of comparative negligence

Beach

Prosser

Li v. Yellow Cab Co. of CA

CA (1975)

P tried to cross three lanes of traffic.  D ran a yellow light and hit Ps car.  

Lower court found that the Ps cause of action was barred due to her own CN.  So the CA SC wanted to see if they should keep CN or move to comparative fault.

Court addressed whether CN should give way to comparative negligence  ( concludes YES.

Why?  More practical, more equitable, extent of fault should govern liability.  Jury had an instinct that CN was unfair and they were always trying to find ways to not find that the P was negligent.

Pure vs. modified


Modified is still somewhat unfair in the sense that there can still be a complete bar for being more than 50% at fault.  


But it is very hard to agree on a number for apportioning percentages of fault.  

Hypos


A is the P and suffers 20k in damages.  B suffers 30k.  A is 40% at fault and B is 60% at fault. 


Under traditional contributory negligence system, neither get anything


Under pure comp. neg. ( A would get 60% of 20k, which is 12k.





( B would get 40% of 30k, which is 12k.


under modified approach, B gets nothing because he is at fault more than 50% and A gets 12k like above.

Incentives for each type


Less of an incentive under the pure comp negligence system because they could still recover something as opposed to nothing under traditional CN


Prosser would say that no one knows about the tort system anyway so no one thinks about these things anyway.

Once we switch to the comp neg standard, lots of things change in terms of the old doctrines.  Last clear chance figures into the apportionment but it is not an all or nothing rule.  Before, last clear chance was all or nothing.

Willful or wanton – used to overthrow CN, but under comp neg, it is not as clear.  If Ds conduct goes beyond gross neg or willful and wanton then it becomes like an intentional tort, then the Ps negligence is not an affirmative defense in an intentional tort. 

Gross negligence – extremely unreasonable, risk is very high, risk is very likely to occur.

Recklessness – D aware of the risk but does it anyway

iii. Assumption of Risk

Has evolved to mean something different then what it originally did.


Half of assumption of risk is really about consent and the other half is really about CN.


It kind of has evolved itself out of importance, but courts still refer to it.

Explicit A of R ( often by K or can be oral.  Look on the back of your ticket for a game or amusement park.  

CA standard – must illustrate to an ordinary person untrained in the law that the release absolves the Ds for liability for harm caused by the Ds negligence.

Lamson v. American Axe & Tool Co.

Mass. 1900

Action for personal injuries caused by the fall of a hatchet.  Lower court directed verdict for the defendant and plaintiff wanted to assert exceptions.

This court denied the exceptions ( the P took the risk upon himself and he could have stopped working ( implicit A of R, not K was signed about him staying and assuming the risk.  Judgment for D.  But maybe the P had no other option, maybe he could not find another job.  Incentive for employer to not make workplace safe if they know that employees staying means they are off the hook.  Workers comp has changed this, may make incentive go down because they know there is protection but also an incentive to make everything safe to keep insurance rates down.

Because the D wins the affirmative defense, there is no real discussion of negligence.  So was the D negligent?  Common sense approach – went against reasonable person.  Balancing – probably because the cost of moving the rack would not be much.  Could look at custom as well. 

Murphy v. Steeplechase Amusement Co.

NY 1929

Quasi-stranger case – Rothman would call it a stranger case, but the book says they have a relationship.

P went to the amusement park at Coney Island and went on a ride called the Flopper.  P watched the ride beforehand and saw that people could fall down but he took the risk anyway.  He fractured his kneecap.  

P claimed that the ride stopped and started violently and was not equipped with proper safety devices.  

The court reasoned that there was no evidence to show that the ride was too dangerous.  Cardozo is not convinced that the park was negligent, but it is possible if the P did indeed fall on a wooden board.  His claim was contradicted however and did not go to the jury, so Cardozo could not find negligence on that aspect. 

The P was not coerced into going on the ride, he made a choice ( volenti non fit injuria.  People have a choice to go out or not go out.

What are the risks inherent in the activity?  Have to determine this because D only has to protect against the risks that are not inherent.  

Traditional implied A of R


P has specific knowledge of risk


P appreciated the nature of the risk


P voluntarily proceeded


R2d adds willingness by P to accept responsibility of risk

Exceptions to traditional implied A of R


Legal right = cannot assume a risk that violates a legal right


Freely chosen – have to be free to accept the risk, example – Eckert, maybe he was not free when he tried to save the child.

How has A of R changed under the comparative fault system?  This is where you get to primary and secondary A of R.  Primary is really about negligence, and secondary is really about CN.

Knight v. Jewett

CA SC (1992)

Issue:  Question of what is the proper application of the assumption of risk doctrine in light of this court’s adoption of comparative fault principles.

Facts:  Informal touch football game, D was playing rough and stepped onto Ps finger, causing it to eventually be amputated.  P sues.

D claims that he is not liable under assumption of risk.  P claims that A of R was eliminated when the court adopted the Comp Neg doctrine.  

Trial ct granted SJ for D.  C of A affirmed.

The court discusses primary and secondary A of R.  Primary is not merged into the Comp Neg system and Ps recovery can be completely barred.  Secondary is now merged into the Comp Neg system and recovery can be reduced.

Inherent risk in playing sports – intentionally injures, reckless conduct, totally outside the range of ordinary activity. It is expected that in playing a game you accept a certain level of negligence – lower standard of reasonable care.

The court held that the D did not have a legal duty of care and it falls under the primary system, thus being a complete bar for the P.

The A of R question  is converted into the Duty question.

Judgment affirmed.

Dissent – Justice Kennard


Does not like lowering the standard, this was a very informal game ( it should go to the jury.

Ford case – same outcome, same standard of care for competitive sports and informal sports

Kahn v. East Side Union High School District

CA SC (2003)

Issue:  Question concerned the application of primary assumption of risk.

Facts – swimmer dove into pool, broke her neck.  She alleged the coach breached his duty of care.  

Rule – breach of duty takes place when instructor intentionally injures or is reckless in coaching (same standard as in Knight, higher than reasonable person standard).

Application:  Court held that there was evidence that the coach did breach his duty, cannot be resolved on SJ.  This is really gross negligence or recklessness.  This shows that the Knight standard is not unreachable.

Kennard again dissents – Why?  No logical basis for treating coaches differently.

Assumption of risk – continued


Once comp fault comes into the landscape, A of R has changed.  Implied A of R has changed, express has stayed the same really.  

Primary a of r is really about the Ds duty – P has to prove that the P breached a duty.  In amusement park or sporting events, D does not have a duty.  And the CA SC said that in informal sports, the level of care is lowered.  

Example – ballpark does not have a duty to protect spectators from foul balls, its an inherent risk.  What arguments that they are negligent?  Don’t really have any arguments, so this goes to show that there is no duty to protect for that purpose.  

Murphy fits nicely under this category.

Secondary a of r – really about CN.  Whether someone unreasonably took a risk for himself or herself.  If so, then that person will just recover less.  If the risk is reasonable, then what? No CN.

Example – someone was in car accident, drunk person stops to help and take person to hospital. It was reasonable to get into the car with that person.  

Where does Lamson fit?  Probably secondary, and then it is arguable whether it was unreasonable or reasonable for him to stay at that job.

Hypo – horserider


There is a possibility that there is express a of r.  But nothing in the release is clear about releasing from negligence.  


Implied a of r – primary or secondary? There are inherent risks, so the D would argue primary a of r.  But maybe there was still a duty of care on the part of Mark, the guide, for undisclosed risks.  Knowledge of risks by the P goes to show inherent risks.
d. Causation (third element of negligence)

Cause in fact (actual cause) and proximate cause (legal cause)


Factual vs. conceptual outlook (is the law going to recognize this as cause) 

Ps always have to prove causation, even in intentional torts and strict liability.

Cause in fact

NY Central RR v. Grimstad

2d Circuit (1920)

Judgment was made for the P, D appealed.

Ps deceased husband was the captain of a barge owned by the D.  There was a bump and Ps husband fell into the water.  He did not know how to swim and drowned.  

What there negligence by not having buoys?  Breach of duty – yes.  Look at balancing test, how often are people falling overboard, how cost do buoys cost. 

Common sense – probably reasonable to have buoys

Custom – one factor to show breach

Negligence per se – if they violated the law, then the P would likely be in the class set out to be protected. 

REL – does not really apply here, because just because someone does not fall overboard does not mean there was negligence.  

Was P CN?  Court does not really talk about this. There is no evidence to this, maybe there is an argument that he should have known how to swim.  

The court held that the actual cause of the death was falling into the water.  The jury had found that the D was negligent in not having life preservers on board, but this court said whether a life buoy would have saved the P was simply conjecture.  

There is an argument that both were the causes, you can more than one cause***

But the court needs more evidence here.  Basically, the P did not put forth evidence that the buoys would have saved the guy’s life.

Judgment reversed.  

Zuchowicz v. U.S.

2d Circuit (1998)

DC found for the P and the US appealed.  

P filled a subscription at the naval hospital for the drug Danocrine.  The prescription told her to take more than the recommended dose.  

Shortly thereafter, she became sick and eventually was diagnosed with primary pulmonary hypertension.  She was on the waiting list for the lung transplant but got pregnant and therefore could not have the transplant.  She died one month after giving birth.  

Ps expert testified that the drug caused the Ps PPH.  

Medical malpractice case – custom is the standard to look at, it is dispositive.  This is not in dispute.

Court asked two questions:


Was the drug a but for cause of the Ps illness and death?


Was the overdose a but for cause of Ps illness and death? (have to show that the Ds negligence caused the death)

Rule ( Cardozo and Traynor


A negligent act was deemed wrongful because that act increased the chances that a particular type of accident would occur and a mishap of that very sort did occur, this was enough to show that the negligent behavior caused the harm.

Court reasoned that based on his rule, the Ps case is even stronger because they also had some direct evidence about too much of the drug causes this disease.  Therefore, judgment affirmed.  

Evidence – doctor is mostly bringing up circumstantial evidence, that she was healthy before and then after taking the medicine she was not.  This is ok as long as there is evidence that more likely than not, the negligence caused the harm.  

Herskovits v. Group Health Cooperative

Wash (1983)

Whether an estate can maintain an action for professional negligence as a result of failure to timely diagnose lung cancer, where the estate can show probable reduction in statistical chance for survival but cannot show and/or prove that with timely diagnosis and treatment, decedent probably would have lived to normal life expectancy?  He was more likely to die anyway so how can the P say that this is the cause.  

The trial judge granted D’s motion for SJ.

Hospital failed to diagnose lung cancer in a timely manner and Ps chance of survival by 14%.

The court reinstated the cause of action.  If there was an increased risk for harm, then the D should be liable.  Also, policy concerns – people with less than 50 percent chance of survival would not be given proper medical care.  Lost chance doctrine – causing reduction of the opportunity to recover ( but does not mean a total recovery.  Maybe he only gets 14% of his damages.  If over than 50% chance of living, then you can totally recover.

Multiple causes of an injury

Kingston v. Chicago & N.W. Ry.  

Wis. 1927

Northeast fire was started by Ds locomotive.  Jury found that it was a PC (means actual cause) of the destruction of the Ps property.  Northwest fire was of unknown origin and also found to be a PC.  Either fire was sufficient to cause the fire.  But for test does not do anything for us, because either fire would have caused the damage.

Rule:  when there are two joint tortfeasors who concurring acts of negligence result in injury, they are each responsible for the entire damage.

The fires here were of equal rank.  Question then was whether the RR company escapes liability because the origin of the northwest fire is unknown, although it was probably because of human origin.  Why does it matter whether that fire was caused by natural origins?  If it was natural, then we would not have two tortfeasors.  And then the RR company could be let off, because the natural fire would have caused the damage anyway. There is a but for problem. On the other hand, a negligent party would be let off the hook.  This goes to corrective justice, that we want people to take precautions and they are the blame so they should be punished.

Court said RR is still liable, if each wrongdoer could plead the wrongdoing of the other, both could escape blame.  

Judgment affirmed.

If one fire can through later, the one that came through first would be the cause.  And the second fire would not matter. 

If the fires where of different intensities, then depending on the jdx, the damages would be divided, or one party would have to sue the other for contribution (joint and several liability).

Hypo – either one would have been sufficient to cause the harm, so both should be held liable.  Even if either was sufficient, and both were necessary, then both would still be liable.

Hypo 2 – one argument is that Wendy is more directly liable, but she still would not have stopped had she put on the brakes.  She is the intervening cause to Edgar being liable.  Maybe the pedestrian is an intervening cause as well because he is CN.  Complicated causation issue.

Rtd – if multiple acts exist, each of which alone would have been a factual cause, each act is regarded as a factual cause of the harm.

Summers v. Tice

CA (1948)

Lower court found for the P, Ds appeal.

P and two Ds were hunting quail.  Ds fired shots and P was struck in the eye and upper lip.  Ds were found to be negligent and the P was not CN.  

Issue was whether the judgment against both Ds could stand. 

Rule – both are liable for the injury although the negligence of only one of them could have caused the injury.  

Court said that both Ds were negligent and the burden was on them to absolve liability by showing that one or the other did not cause.  Why does the court shift the burden on the Ds on the causation issue?  That they have more information, similar to Ybarra case.  But this is probably not even true that they know who was the cause.  But since both were negligent, it is better to place them both on blame.  In the future, maybe both will be more careful.  

Fiction going on by the court, deterring negligence, so why even have a causation requirement if you are going to hold anyone negligent to be liable?

Burden of proof for causation ( preponderance of the evidence, so more than 50%

Once you get more than 2 people who were negligent, then their contribution to the cause drops below 50%.

Judgment affirmed.

Variations – if A’s bullet was a 60% chance, thenb this is over 50% so A could be fully liable, but also depending on jdx, might be apportioned 60-40.

As soon as someone is not negligent, then the Summers rule does not apply. 

Market share liability


DES – given to pregnant women to prevent miscarriages.  


Court said that DES was fungible, interchangeable - even though came form many manufacturer, they were all the same.  


Court came up with market share idea – liable based on your market share



A P must show:



All the named tortfeasors are potential tortfeasors



The alleged products of all tortfeasors share the same properties and are identical



The P through no fault of her own cannot identify which D caused the injury



P brings in as Ds those representing a substantial share of the market.  

Apportionment based on national market share.  

This approach has not been used other than DES.  

Substantial factor test – CA uses this sometimes


Be aware that this exists, when issues of but for don’t really work.  It is essentially but for cause with some exceptions (the same as we have been talking about).

Proximate Cause


Limit on the scope of liability (really a legal fiction, just not going to hold a D liable because the causation is too attenuated).

Hypo – LAX accident


4 – but for getting hit, she would not have died. But too attenuated to be PC.


5 – intervening cause

Distinguishing duty and PC


Duty is for global assessments whereas PC is about a specific plaintiff
Bacon, the element of common lawes of England (1630)


Courts concerned with the immediate cause

Street, Foundations of Legal Liability

(1906)

Proximate = recoverable damages, remote  = non-recoverable damages

Determined by facts of case, logic, common sense, justice, policy, and precedent

Ryan v. NY Central RR

NY (1866)

Facts:  D set fire to their woodshed accidentally and Ps house caught on fire.  Lower ct found for the D, P appealed.

The act that caused the fire was negligent but not negligent in the Ps house catching on fire (efforts were made to save it).

Is the owner of the first building liable to the owner of the second building for a fire?

General rule – liable for acts which are the proximate results, but not ones that are too remote (meaning legally remote,  not in time or space ( how far down the chain does liability flow.


Natural and expected result vs. accidental and varying circumstances

Hunt – says damage was too remote for the D to be liable, it was not the natural and expected results – this is weird because it does seem like it is.  Why does the court say that?  There is wind and heat and intervening circumstances, it may be known that the fire will spread but you cannot tell where it will spread.

This case basically sets up a “one-building” rule – no prudence could guard against liability, buildings were close together in urban areas, it would be holding people liable for their neighbors’ property.

Judgment affirmed.

Policy arguments in Ryan


Corrective justice – the RR company was negligent so they should be liable.


Deterrence – the Ryan rule is under-deterring the RR.


Economic efficiency – no real way to avoid the costs of sparks coming off of the rail.  Maybe the burdens are too high.  Maybe the Ryan rule actually makes sense. 

This rule in the Ryan case is not really followed, never gained any wide acceptance.
In re Polemis & Furness, Withy & Co.

Kings Bench (1921)

Facts: Terms of the agreement provided a shield to liability ( court said that the clause was no valid as a defense.  

The charterer of the vessel exploded when a plank on board fell into where petrol was stowed.  The owners of the vessel sued the charterers for negligence.  

Lower court found that the servants’ negligence caused the plank to fall.

The falling of the plank was the actually cause of the explosion.  No evidence that the longshoremen who were unloading the ship knew that there was gas on board.

Banks ( Two different approaches – the consequences are material only to show negligence or not OR the consequences are the test to see whether the damages are too remote.

This judge says that the falling of the plank was due to negligence and that the plank’s sparks was the direct cause of the explosion.  Therefore, it is immaterial whether the spark of the falling plank was reasonably foreseeable.

Warrington ( agrees, once the act is negligent, the fact that its exact operation was not foreseen is immaterial.

There is still foreseeability – it is foreseeable that a plank falling would cause damage, and then you are liable for any direct harm. 


Directness test – directly trace is back to the negligent act and nothing else intervened.  Unbroken chain of causation.

There would have to be a cut off point in time.  What if the captain bumped the ship on the dock which caused the plank to fall and then the spark occurred – probably would still satisfy the directness test.  It is foreseeable that a dump would cause damage and therefore you are liable for any harm that occurs.
Palsgraf v. Long Island RR

NY SC, called court of appeals (1928)

Lower court found for the P, D appealed.

Passenger trying to board train had fireworks in a package, package fell, fireworks explode, hit a scale on the platform and the scales fell on Ms. Palsgraf.

Majority Opinion:  Reverses

Lower court ( The sole question submitted to the jury of the lower court was whether the D’s employees were negligent in the way they handled this particular passenger after he came upon the platform and while he was boarding the plane.  There was evidence for the jury to find the D was negligent (should have closed the door to the train), but dissent of the lower court said that btw the negligence of the train and the injury to P, there was the action of the passenger with the package.

Cardozo – says that P must show a wrong to herself, not someone else.  Here, it was too remote for there to be a duty owed to the P. Foreseeability is used here to illustrate duty. 


What the train negligent with respect to the passenger getting on the train?  Cardozo suggests that it was not negligent but maybe a little negligent as to the package.   

But for cause – but for the act causing the package to come lose, Palsgraf would not have been injured.  

Cardozo focuses on duty and he does not really talk about causation.  There is a duty when there is a foreseeability of risk to a foreseeable plaintiff – and zone of danger.

Dissent:

Andrews – wants to follow Polemis and the directness test, if the act is wrongful then the doer is liable for its proximate results.  Here, there was no remoteness to the Ps injuries, the explosion was the direct cause.

How would Palsgraf come out if we did use the directness test – maybe everyone running around on the platform caused the scales to fall, so maybe there was a break in the chain.  But arguable the people were running because of the explosion. It is hard to tell whether something was too remote or not.  

This is why Cardozo uses the foreseeable P test because it adds another policy concern.

What about the passenger – he was negligent in that he tried to get on a moving train, and it was foreseeable that the fireworks, if dropped, would cause harm to anyone around the train station.  

What if the scales were negligently hung – but for problem as to the fireworks exploding?


Under directness test – there was an intervening cause as to the fireworks


Under the foreseeability test – the P was a foreseeable P

Hypo – Madison is a passenger in a car, drive Rachel is speeding, they are hit by a falling tree.  M is injured.  If R had not been speeding, the tree would not have fallen on the car.  Can M sue R for the injuries to the falling tree?


We could say that M is a foreseeable P, but is this foreseeable harm?  No.  Leads us to believe that the FP test needs some limitations – what we will talk tomorrow.


Under directness test, seems like the tree falling is the intervening cause and no liability.

Directness Test


Fireworks ( scales falling ( Palsgraf


When we said that the scales were negligently hung, then there is arguable a break in the chain.  The fireworks are still the but for cause, but not the PC because of a break in the chain. 

Foreseeability Test


Need a foreseeable P.  

Wagon Mound case

Can we say that the oil spill was the factual cause of the fire ( yes

Then ask the Palsgraf question, was the P foreseeable P ( wharf owner is a foreseeable plaintiff, there would be some damage to the wharf.  Then, was the harm itself foreseeable?  Fire did not start until a couple days later.  The court said no.  The type of harm itself needs to be foreseeable.  Here, the fire needed to be foreseeable, not just damage to the dock.  The damage to the dock may be foreseeable, that oil would get on it and the wharf owner would have to clean it up. 

This case adds to the piece of the foreseeability test that the type of harm must be foreseeable.  What about the eggshell plaintiff?  Wouldn’t this kick out the foreseeable type of harm part – no because the eggshell doctrine withstands because that goes to the extent of the harm, not type of harm.

So what about directness test – there is some intervening causes and problems with time.  Court here rejects the Polemis directness test

Wagon mound 2 – ships sued rather than the wharf, the court there said that the fire was foreseeable.  They wanted to use the directness test. 

Difficult to resolve these two cases, but it really has to do with litigation strategies.  

Note:  Intentional torts and proximate cause – this is generally not an issue, if you intend to punch someone in the face, then anything that results is foreseeable.  Generally, actual cause is enough in intentional torts.

Third test for finding PC – RTd Section 29


Limitations on Liability for tortious conduct

An actor is not liable for harm different from the harms whose risks made the actor’s conduct tortious.  

e.  Affirmative Duties

(1) The duty to rescue

Buch v. Amory Manufacturing Co.

NH (1987)

Trial court denied a motion for directed verdict and the D appealed.  The appeals court set aside the judgment for plaintiff and found for the defendant.  

Issue: Did the D have a duty to remove the child?

The claimed negligent act was that the D did not forcibly eject the child, because the child was in a dangerous situation.  

P was a child, 8 yrs old, trespassed in D’s mill.  An overseer told the boy to leave but he did not understand English.

The court held that there was no greater duty by the D because the P was a child.  An infant, no matter of how tender in years, is liable for his trespasses.   Basically, there was no duty on the part of the D.

Moral obligation is not the same as a legal obligation.


Also there is a big difference btw causing an injury and preventing an injury

Hurley v. Eddingfield

Ind (1901)

Lower court found for the D, P appealed.

Facts:  D had been a general practitioner of medicine, he was the Ps family doctor.  Ps decedent was ill and called for D.  No other doctor was available.  Without any reason, the D refused to give aid.  Ps decedent then died.  P brought this suit for wrongfully causing the death of the decedent.  

The alleged wrongful act was the refusal to enter into a contract of employment.  

The court held that the medical act is to regulate the practice of medicine by ensuring licenses, examinations, etc.  It is preventive and not compulsive.  A doctor may still choose when to practice – there is no duty to practice.

Genovese case – brings up important policy questions

Fairness, relational, deterrence, utilitarianism arguments

Fairness – no blame on people who do not know what it is going on, line-drawing problems – Epstein; burdens if someone lives in a high-crime area 

Relational – community (Bender); 

Ames, Law and Morals (1908)

Law is utilitarian – needs to be reasonable for the good of society as a whole.

Examples that he provides – there is not duty civilly or criminally, just a moral obligation.

But should the law remain like this?


He proposes a possible rule ( one who fails to interfere to save another from impending death or great bodily harm when he might do so with little or no inconvenience to himself, and the death or great bodily harm follows as a consequence of his inaction, shall be punished criminally and shall make compensation to the party injured or to his widow and children in case of death.

Could be declared by statute rather than by the courts

Epstein, A theory of strict liability (1973)

Finds Ames’ rule to be unworkable

Hard to tell where liberty ends and obligation begins

Should be autonomous, choice to enter into Ks is a fundamental one and people should be free to do as they please.

Posner, Critique of Epstein (1979)

Epstein focuses on mutual promises thus creating a K ( reciprocity  

Bender, a lawyer’s primer on feminist theory and tort (1988)

Talks about how the victim is not the only person affected by lack of care of assistance – people have family and friends, and everyone is connected.  

Montgomery v. National Convoy & Trucking 

S.C. 1937

Lower court found for the P, D appealed

Ds trucks had stalled on an icy highway without their fault, blocking the road completely.  About 15 minutes later Ps car came over the hill and started down toward the trucks before the P could see them.  Ps could not stop.

Ds did have duty and they recognized that by putting out flares and turned the lights of the trucks on.  But the duty was not totally fulfilled by the lights and flares.  

A warning at the top of the hill would have prevented the accident.  Enough evidence for the jury to find negligence and maybe even willfulness. 

Exceptions to no duty to rescue


Undertaking – to try to rescue someone then certain obligations arise


R2d 324



Hypo – D helps an injured person on the side of the road, get into car accident, D could be successfully sued but maybe we want to protect these people.  



Hypo – had not started helping her yet so probably not liable.



Hypo – started helping her but then brought her back, D could be liable.



Hypo – said he was going to call 911 but doesn’t, is he liable?  Maybe if he prevented someone else from calling.



Hypo – would be liable if acted negligently.

Basic rule – no affirmative duty to rescue, but if you start then obligations ensue and you cannot leave the person in worse condition.  

Montgomery hypo


No need to warn of the truck, this person did not create the harm and there was no undertaking.

Cheney hypo


Did Cheney have a legal duty to Whittingham or could he leave him on the ground?



Even if not negligent, Cheney created the risk and had a duty to help him if he was bleeding or injured.


A of r argument, both primary and secondary

Soldano case – notes after Montgomery


No interference rule – cannot interfere with someone else’s duty to rescue.  The bar owner did not let the person use the phone.

Encourage risk taking – maybe for children

Summary of exceptions


Undertaking


Created risk (Montgomery)


No interference rule (Soldano), not the mainstream rule, just in CA


Encourage risk taking  ( maybe for children but not really for adults

(2) Duties of Landowners and occupiers

Robert Addie and Sons v. Drumbeck

A.C. 358 (1929)

Facts:  Ds were colliers and operated a haulage system in their fields near a public road.  The system has an endless wire and on one end there was an engine and on the other there was a large horizontal wheel in which the cable passed through.  It was covered y four boards but there was still room to get underneath.  The system was surrounded by a hedge but there were gaps making it inadequate for keeping children our and many people used the field as a shortcut.  Ds servants warned children to stay out of the field and admonished adults not to cross.  Ps 4 yr old son was killed when he got caught by the pulley and rope near the wheel and drawn into the mechanism.  

Procedure:  Lower court found for the P and the D appealed.

If there was a duty, was this negligent?  Not properly covered, children were around and not fenced in, no one checked to see if there was children around, no warning given.

Duty to strangers?  They created the risk so shouldn’t there be a duty?  But this is private property.  Duty if on private property depends on the category the person is in.

Rule:  three categories of people


Invitees, licensees, and trespassers

Invitee – duty of reasonable care.

If a danger is open and obvious, there is no duty to a licensee.  Only duty to ensure no traps or concealed dangers.

Trespasser –lowest duty, no duty but you cannot do a willful act.

The court found that the kid was a trespasser, there is maybe an argument that he was a licensee because kids always played there and no one put up a fence.

Invitee – on land for some purpose in which he and owner have a joint economic interest


Public invitees – R2d 332

Licensee – someone not invited for a business purpose to serve owner but here is permission (social guests)

Trespasser – person there without invitation and whose presence is either unknown or objected to if known

Cheney hypo – he was probably a licensee because he did not pay, maybe the other guy was an invitee if he paid.  Whittington would want to be considered an invitee if he was suing the landowner because then a duty of reasonable care was owed.

Hypo 1 – licensee, no business aspect

Hypo 2 – invitee if she wants to buy a dictionary but if she thought he was cute, then prob a licensee

Hypo 3 – fred segal store, not planning on buying anything but still there for the purpose to looking, that’s the purpose of the store, so invitee


Would a child accompanying the father be an invitee ( yes

Compare Addie with Excelsior case – servants knew that children always played on the machinery and it was extremely likely that children would be on the machine when they started it

Exceptions to traditional landowner rules


Willful and wanton


Attractive nuisance


(continued below)

R2d Section 339 – attractive nuisance doctrine


At CL, it was broader so the R2d present some limitations


Attractive to children (CL as well)


Artificial condition (CL)


Possessor knows or has reason to know children will trespass (CL)


Possessor knows or should realize the condition creates an unreasonable risk of death or serous harm (CL)


Child did not assume risk (split at CL)


Risk-utility calculation supports eliminating condition


Possessor failed to exercise reasonable care

Rowland v. Christian

Cal 1968

Facts:  D invited guest P to her apt, when he was using the water faucet in the bathroom, it broke and sliced open his hand.  

Under traditional CL, he would have been categorized as a licensee.  Is the broken faucet open and obvious?  There are arguments back and forth.  The court could have found that the crack was concealed and the P could have recovered that way.

Trial ct found for the D, this court now reversed.

The court decides that they want to get rid of the traditional categories, too confusing.


Critique of the feudalism in which these categories emerged.  

So the new rule is: whether in the management of his property has acted as a reasonable man in view of the probability of injury to others and although the plaintiff’s status as t or l or I, may be looked at, it is not dispositive.  

Here, the D was negligent in not warning the P about the concealed condition about the faucet.

Dissent – let the legislature change the law, the old rules provide expectations for people and has been workable.

What about a landowner who has trees and kids walk through to get to the bus stop, does the owner have a duty to trim his trees?  Depends on if he knows about it and has done anything to prevent it.  

Exceptions continued

Active operations


Eliminating invitee/licensee distinction


Eliminating all categories and applying general standard of care duty to all (Rowland)

(3) Gratuitous Undertakings

Coggs v. Bernard

Kings Bench (1703)

D had moved casks of brandy owned by the P from one place to another.  Thru the D’s negligence, some of the casks were split open and great quantities of brandy were lost.  The lower court found for the P, and the D appealed.  

D argues that there was no consideration or payment for his actions and that he is not a common carrier.

The court holds that the any man who undertakes to carry goods is liable to an action, if through his neglect they are lost.  

If a man voluntarily takes actual entry upon the goods, the owner puts his trust with the goods, so the D should be liable.

Erie RR v. Stewart

6th Circuit (1930)

P Stewart was a passenger in a truck sitting in the passenger seat.  The truck was struck by one of the D’s trains.  There was a watchman but he was apparently within the shanty or outside of it and gave no warning.  DC found for the P and D appealed.  

Majority focuses on reliance – and allows for there to be an instruction that negligence is presumed

Tuttle – reliance should be irrelevant, but may go to CN.  Lack of reliance would be CN, should have stopped, listened, or looked.

Marsalis v. LaSalle

La. App. (1957)

Facts:  Cat scratches P while shopping in the Ds store.  

Lower court found for P, D appealed.

Liability here is for not keeping the cat to check for rabies, not for the bite.  Was it negligence in letting the cat escape?  The court said yes, the Ds took no special steps to prevent the cat from escaping.  If the P knew there was rabies, then there would be a causation issue because she would have had to have gotten the shot regardless if the cat ran away or not.

Other basis for establishing duties


Shopkeeper and customer – invitee


Landowner and visitor

This case has to do with reliance – R2d 323


Undertakes gratuitously, will liable is failure to exercise reasonable care if the risk was increased or reliance

Moch v. Rensselaer Water Co.

NY (1928)

Contract – water furnished for the city.  Fire broke out and there was no water to put the fire out.

Trial court denied the dismissal of the case and the appellate division reversed.  Here, the court affirmed.  Water company is not liable for the fire.

P argues three grounds for liability

Breach of contract


Can third parties sue under a contract breach?  Yes, if a third party beneficiary.  But the court says this does not apply.  Would allow almost anyone to claim to be a TPB.

Tort liability


Opens up a Pandora’s box ( enlargement of zone of duty.  Not the commission of a wrong, but the omission of a benefit.  The water company was not the instrument of harm, no the cause of the fire.

Breach of statutory duty


Nothing in the law that requires the zone of liability to increase.

Also talks about fire insurance.  Wants to encourage people to get fire insurance.

What if the pipe broke and caused a flood in Moch’s building?


Maybe a stronger case for liability

R2d – 324 A – holding the company liable, courts have tended to hold them liable and do not follow Moch.


Increased risk, transferred duty, reliance.

Moch is the minority rule, basically. But still important.

Undertaking hypo 1


Under the Moch rule, Zappos is liable to Carl because there was an actual negligent act, not just some omission to benefit.


Under the R2d, there seems to be an increased risk.

Hypo 2


Under Moch, maybe not liable, similar to the actual case.


Under R2d,maybe a transferred duty, duty by the city to inspect the poles.  

Hypo 3


Under Moch, probably no liable, maybe greater duty than the utility pole.


Under R2d, there is reliance and maybe even transferred duty.

(4) Special relationships

Kline v. 1500 Mass Avenue Apts.

DC Circuit (1970)

This case involves a duty to a third person.

R2d 315 – about control and protection

Facts:  Kline moved into apt, at that time there was a lot of security, there were doormans, doors were kept locked.  She moved in during1959. Over time, security measures were diminished, Kline was attacked in 1966, robbed and assaulted.

The special relationship here is L-T.  Landowner and licensee or invitee does not really work here because traditional law has special rules for L-T.

DC found that there was no duty, but the Court of Appeals here reverses.

The basis for this is that the L had exclusive control of the common areas and the T had no right to change the common areas or make them more secure.


She could move, get pepper spray, have some organizing of the Ts.  But the court does not consider these things.

Issue of foreseeability – majority says that there is foreseeability because the attacks were probable and predictable.

In a way, they are imposing duty as a matter of law and sort of glazing over foreseeability.

Arguments that L should have no duty


Maybe assumption of risk on the part of the T


Her lease went from month to month so in a way she kind of accepted the new security measures or lack there of


What if it was another T that robbed her?  Does L have a duty to protect against other Ts?  Only if the L knows that the other T is dangerous.  

Are criminal acts superseding?  Majority and dissent kind of argue about this.

The question in this case is whether a L has a duty to a T to protect against criminal attacks by third parties.  Generally, there is no duty, but as this case shows, under some circumstances when the attacks are foreseeable then there is a duty.

Standard of care – the court says that the standard of care is reasonable standard and as a matter of law, the standard is the security measures when Kline moved in in 1959.  Basically, the 1959 standard has to be reinstituted, but could be modified based on new technology, etc.

Kline rule has been extended to other special relationships, not just L-T ( notes after case

Backing away somewhat in the Mall case when there was no foreseeability that there would be attacks.  

L-T hypo


Gang members – is this foreseeable?  Was there a duty to evict?  Probably would need a legal reason to do this, security guards?  Need a foreseeable reason to have guards.

Argument that police would be more able to come into the mobile home park and patrol.

But there would probably not be liability here because the shoot out was not foreseeable.

Hypo 2


FedEx employee – is apt complex liable for attack?  If the person was a T, then there was a duty but was there was breach?  Arguments back and forth.

Employee – would want to know how long they were considering having daytimes guards, would want to know how long the lock was broken.  

Maybe would could argue invitee-landowner relationship.

If there was no special relationship, then there would be no duty to protect against third party attacks.

NOTE:

A lot of overlap btw duty and PC


PC can be a limitation on duty


But a distinction is that generally duty is a question of law and generally PC is a question of fact.


When the question is one of foreseeability, then duty and PC are very similar.  

Tarasoff v. Regents of University of California

CA SC (1976)

Facts: Tarasoff was murdered by fellow student, Poddar.  Poddar was treated by therapist employed by UC Berkeley.  Poddar had said that they he was going to kill Tarasoff, but no warning was ever given.  Therapist’s supervisor did not want the therapist to take any further action.

The court holds that the therapist had a duty to warn Tarasoff on the grounds that they should have protected her.  The most important factors is foreseeability – did the duty become imposed because of foreseeability.  Also, at CL there would need to a be a special relationship for there to be duty.  There was a special relationship with Poddar so therefore there was a duty to protect Tarasoff.  

The court does not answer whether foreseeability alone could be a basis for duty.

Counterarguments – degrade medical care, confidentiality btw doctors and patients.


UC regents may also argue that it would have happened anyway (no causation) and he would have killed her anyway.

CA Civil Code Section


Need a serious identifiable threat


May have an objective standpoint, whether a reasonable therapist would have thought that it was a serious threat

V.
Strict Liability

Fletcher v. Rylands

England (like a trial court) (1865)

Plot 1 – owned by Lord Wilton

Fletcher – ran a mining operation on plot 1,2,3 – permission was granted for that

Plot 4 was occupied by Rylands, built a reservoir and there were abandoned mines underneath that connected back with Fletcher’s mines.

P Fletcher’s land was flooded after water broke out of a reservoir built on the D’s land because of a defect in the soil due to abandoned mines.  Rylands (D) did not know about the abandoned mines underneath his land.  His employers may have been negligent in not noticing the mines and realizing that it could cause a problem.  Rylands cannot be held responsible for the actions of the contractors because they were not on his payroll, vicarious liability does not really apply because they were independent contractors.   

2-1 decision in favor of the D.

Bramwell – he argues that the P’s action should be maintainable.  He says that it does not matter what the D knew or not.  He thinks it should be strict liability.  


Discusses trespass vs. trespass on the case – he thinks it fits under trespass, a direct harm.

There was an act that caused harmed and therefore there should be liability.  

Martin – thinks not a trespass because the damage did not occur immediately and he also thinks that it is not a nuisance because building the reservoir is injurious or wrongful.  

Pollock – agreed with Martin.  So D wins.  P appeals.

Fletcher v. Rylands

Court of Exchequer (1866)

The court here is really deciding whether SL should apply or negligence.

Blackburn – says that the general rule is that the person who for his own purposes brings on his lands and collects and keeps there anything that may do mischief must protect it and if he does not do so, he is answerable for all the damages.  Basically, he agrees with Bramwell.  This applies in this case, although adding the word “accumulates” is more accurate in the present case.  D had a reservoir built and water accumulated on his land and there was a possibility that this water could escapes and cause flooding.  


There is a fairness argument here – if damage is done, then the person who acts or failed to act should be responsible.   


He also concludes that there was no assumption of risk on the part of the P.  If you go on the highway, you might assume the risk of being hit by another car.  But landowners do not really assume the risk of water intrusion – is this reasonable?  Sure, because the water was no natural, it was unnatural.

Rylands v. Fletcher

House of Lords (1868)

Cairns – dicusses the difference btw natural and unnatural flow of land.  D is liable in the case of unnatural flow ( basically, SL for unnatural use of land that leads to damage.  Natural use there may be no liability or it would have to be measured by negligence.  What does unnatural mean?  Maybe unusual, maybe hazardous.  

Cranworth – clarifies the general rule stated by Blackburn – accumulates.  The question is whether the D caused the damage, not whether he acted with due care.  Cites two precedents – Baird and Smith.  He says this case is closer to Baird because there was unnatural plumping or flow of water, there was an additional act beyond nature, you are creating a hazard that is not natural.  Smith was more about natural flow.  

Was Fletcher an innocent party here?  Maybe he could have taken certain precautions, because water intrusion is not so uncommon in mining.  He did have pumps, but this case actually arose because the pumps caused the mine house to explode, so he had to shut down the pumps.

Rylands has pretty much been adopted by courts for hazardous things on land.  In America today, SL is used more broadly as well.  

SL used today, where it applies


Vicarious liability – employee-employer relationship.  The employee’s liability is measure by negligence, but once negligence is established, the employer is strictly liable for the negligent act of the employee, as long as within the scope of employment.


Fire – intentional start but unintentional spread ( SL applies.  Compared with Vaughan.  Fire was negligently started and then spread, there the negligence standard applies.


Animals – Gehrts case.  For livestock – the general rule is SL, owner is responsible except when the cattle goes onto the highway.  In different jdx, there are different rules about fencing.


Ultrahazardous or abnormally hazardous activities


Products liability

(1) Animals

Gehrts v. Batteen

South Dakota Appeals Court (2001)

P was bitten by D’s dog.  P sued in SL and negligence.  The trial court granted summary judgment as to both clams for the D.  P appealed but his court affirmed.  

Negligence claim


Courts discusses difference btw rules for wild animals versus rules for domesticated animals. Wild animals – owner is liable for injuries caused, regardless of precautions taken or knowledge.  

Tame animals


Owner is liable if the owner knows or has reason to know that the animal has dangerous propensities.  Failure to act establishes a breach of duty.  Even if no knowledge on the part of the owner, if the harm is foreseeable then the owner may be liable. 

Maybe negligence – chaining up the dog makes dogs more aggressive, scent of the other dog.  But the D did not know that the P had a dog.  

SL does not apply in this case.  Up to the legislature to decide.

Note – come courts say that there is SL if the owner knows that the animal is dangerous.  A lot of CL rules have been changed by statute.  

CA law – Section 3342


Person is SL if in a public place or lawfully in a private place, viciousness does not matter.


Excludes military or police dogs, these dogs also have a self-defense claim

CL treatment of wild animals


Violence vs. non-violence animals


If an animal is ferocious or violent, then SL applies.


If an animal is not violent by nature, but still wild, generally negligence applies.


If an animal is not violent by nature but has violent propensities, SL applies.


Zoos – treated differently for wild animals even if they are violent because of assumption of risk.    

DEFENSES


Two main defenses to SL


CN and assumption of risk

(2) Ultrahazardous or Abnormally Dangerous Activities

Spano v. Perini Corp.

NY Court of Appeals (1969)

P Spano was owner of garage and other P was the owner of a car in the garage.  Ds were engaged in constructing a tunnel so they were blasting in the vicinity.  Ps brought suit for damage to the garage and car in the garage.  

Issue: Whether the Ps needed to prove negligence or they could rely on SL argument?

Trial court found for the Ps, appellate court reversed saying that the Ps had to argue negligence.  Ps appeal to NYs highest court.  

Where there is indirect harm, can this be SL?  Booth case had established that SL was allowed only if there was physical invasion of the damaged property – like rocks or other material being cast upon the premises.  This makes its easier to show foreseeability, proximate cause maybe.  Something physical that causes the harm.  Also, don’t want to discourage blasting because this is used for building and constructing.  Here, in this cause, it is indirect harm.  

The court establishes a new rule: One who engages in blasting must assume responsibility and be liable without fault, for any injury he causes to neighboring property.  

No negligence – there is no need for direct or physical trespass.  

Blasting is unique, not just some kind of activity that damage occurs only in the case if lack of reasonable care, but because it is inherently dangerous ( it could kill people.  But the court does not want to get rid of blasting altogether, the issue is not whether it is lawful to engage in blasting, its just who should be liable for the damage.  Also, maybe it would raise costs to get rid of blasting (people would have to find better ways to do the same work) but to not get rid of it the costs go to people that are injured.  Having a SL, it will have built into it the public costs that the people bear.  But maybe nobody would have to take risks with blasting.  Would negligence deal with this better?  If negligence, then these blasting companies would never be liable because damage would occur regardless of reasonable care.  Basically, you can make arguments back and forth.  

R2d 519


Must be within the type of harm that is abnormally dangerous (section 2)

R2d 520


What makes an activity abnormally dangerous


Six factors:



High degree of risk



Likelihood of great harm



Cant be eliminated by reasonable care



Not a matter of common usage



Inappropriateness of the activity (overlap with the one above)



Is value to the community outweighed by the dangerous attributes (isn’t this negligence and hand formula???) (this element is controversial because of this)

RTd 20


Foreseeability of highly significant risk, even with reasonable care


Activity is not one of common usage


(this make sit more clear than R2d, gets it down to its basic elements)

Indian Harbor Belt RR v. American Cyanamid Co.

7th Circuit (1990)

D is a manufacturer of chemicals, was being transported by tank.  There was a leak and the chemicals seeped out into the soil and nearby homes.  P is the switching line (transporting company) that had to pay for all of the cleanup of the spill.  

P claimed both negligence and SL.

DC denied Sj for the Ds based on the SL count.  And moved for Sj on that count for the Ps.

Is this an abnormally dangerous?  These chemicals are highly flammable and toxic.  Is abnormally dangerous, then SL.

Guille case – hot air balloons.  At the time, the risk of landing somewhere random was high, there was no value for ballooning, technology of the balloon was not sufficiently developed yet, etc.  The factors are met for SL.

But here, with reasonable care, the risk could have been eliminated.  Posner thinks people should not live near the RR.  Posner also thinks that it is common to transport chemicals.  These chemicals have value as well.  

Posner says NO SL.

519 analysis – Posner says that it was not the chemicals that caused the damage to make the chemicals leak, it was a faulty valve or tank.  It’s the tank that is the problem not the chemicals.  

Abnormally dangerous hypos


Reservoirs – maybe, need to know how common they are, where they are located, maybe cannot reduce risk by reasonable care


Fireworks – similar to blasting, but no community value really?  


Aviation – its so common and so valuable to society, likely no SL.  But where there is ground debris, there is SL.  


Driving – very common but high degree of risk, yet it is tremendously valuable and appropriate.  What about police car chases?  Maybe does have value to society, so no SL.  But under RTd, it would be abnormally dangerous.  


Nuclear power plants - governed by statute that provides for SL.  


Manufacturing semi-automatic guns – no SL, bc its not the manufacturing of these guns that are dangerous, its the use of these guns that are dangerous.

Discussion questions


Why do we have pockets of SL that apply to non-intentional torts, when most activities are covered by a negligence rule?


Compare domesticated pets v. wild animals


Blasting v. transportation of hazardous chemicals


Passengers killed in a plane crash v. persons injured by debris from a crash

Answers


Policy reasons for SL ( evidentiary burdens, lack of evidence as to who is at fault (ion blasting, all the evidence may be gone whereas in the transportation of chemicals, the evidence will still be present most likely); corrective justice, if both people are not at fault, then the person who acted should be responsible; reciprocity of risk, difference btw people in the ground or passengers on a plane or pets ( having pets is so common so all of society kind of assumes the risk; creation of risk, reasonable care would not prevent a wild animal from attacking; expectations, how often does debris fall from planes; deterrence, people will be deterred from keeping wild animals; cheapest cost avoider, internalizing the costs by the person who acts or can avoid the accident; judicial efficiency; loss-spreading, as a society, we want to undergo some risky activity but we want we want to loss to spread over a large body of people, spread the insurance of those who will be harmed.

Defense to SL actions


Madsen case – p. 607


First defense ( attack the prima facie case, dispute the facts or attack causation (both actual cause and PC).  Intervening acts – non-intentional 3rd party acts do not relieve a D for liability if SL applies (R2d).  Even non-intentional act by 3rd party could be an intervening cause (Rtd).  Courts are split on this on whether these acts break the chain of causation.

Mink farmer – sues because the D was blasting and frightened the mink who ate their young due to the traumatic experience.  Court held that SL did apply, but the damages were too remote, cannot expect that the mink will eat their young.  Also, the harm is not really within the scope of harm due to the dangerous activity.  This case stands for that fact that you can attack PC and also there is no recovery for unusually sensitive plaintiffs.  


Other defenses ( CN and assumption of risk.  How does this work ( comparing the Ds no fault with the Ps negligence, the way we apportion is left up to a jury.  How much did the Ps negligence contribute to the harm?  There is no set formula, it would just reduce the recovery.  

Hypos


Is fumigation an abnormally dangerous activity?  Could run through the factors, SL could apply and they could be liable.


2 – pedestrian is struck; the harm is not within the scope, so likely negligence would apply.  Was the driver negligent?  There would be SL for vicarious liability for the employer.  There would also be a defense of CN on the part of the pedestrian.  


3 – C throws a match.  Is there an intervening cause or not?  People negligently throwing a match is foreseeable for maybe they are SL.  


4 – does an intentional throw change things?  This is likely a sufficient intervening cause and the chain has been broken.  But still may need more facts


5 – now C is injured by the match throw, C is CN or if C did so intentionally then there is an A of R defense.


6 – SL applies bc it is a dangerous activity but there is a defense of A or R, his recovery will be reduced, this is basically secondary A of R.


7 – employee assumed the risk, within the scope of someone working as a fumigator.  Sl probably would not apply.

(3) Products Liability 

Background on products liability – used to be primarily a matter of K, needed privity.  P and D   or person who was injured and the manufacturer had to be in a contractual relationship.

Three categories for products liability
(1)  Manufacturing Defects ( SL for this kind of defect only

Manufacturing defect = not manufactured as intended, manufactured improperly
MacPherson v. Buick Motor CO.

NY Court of Appeals (1916)

D is the manufacturer of automobiles. D sold the car to the retailer, who sold it to the plaintiff.  While the P was in the car, it collapsed because of a defective wheel. The wheel was not made by the D, it was bought from another manufacturer (subcontractor).

There was negligence on the part of the manufacturer for not inspecting the wheel.  Ds claim that they only owe a duty to the immediate buyer.  Traditional rule is that only parties that are in a contractual relationship will be held liable for these kinds of defects.  Courts made exceptions to this rule if the activity or product was inherently dangerous, such as poison.  So the Ds argue that this exception does not apply to cars.

Issue:  Whether the D owed a duty of care and vigilance to anyone but the immediate purchaser?

Precedents that the court discusses


Thomas v. Winchester – poison was falsely labeled

Rule that this court uses: principle of Thomas is not limited to poisons, explosives, etc.  If the nature of a thing is such that it is reasonably certain to place life and limb in peril when negligently made, it is then a thing of danger.  


There must be knowledge of the danger & danger has to be probable

Proximity must also be considered – foreseeability 



If the danger is foreseeable, then the manufacturer will be liable to a foreseeable P.

This case is analyzed under a negligence standard, if there was no evidence of negligence, this case would not have gone forward.  This case illustrates that the privity requirement is no longer necessary.

If the P had been going faster than the record states, then maybe there is an argument for CN and there would have been a complete bar to recovery.  Also, a causation problem if he was going faster. 

Cardozo – judgment should be affirmed.

Dissent: talks about the contractual obligation

Escola v. Coca Cola Bottling Co. of Fresno

CA SC (1944)

Facts:  P was a waitress and she was placing Coke into the refrigerator in the restaurant.  One of the bottles exploded in her hands and she was badly injured.  She is suing for damages against the Ds, Coca Cola.

Trial ct – found for the P and affirmed on appeal.

Argument that there was too much pressure in the bottle but there is not really enough evidence. 


Is this a good case for RIL ( need duty (or exclusive control) of D, negligence by D was more likely than not the cause, event occurs ordinarily because of negligence, and cannot be due to any voluntary action on the part of the P.

Someone could have shaken the bottle or the bottle could have been left in the heat,, so maybe not in the exclusive control of the D.  Intervening causes.

Here it is not clear what the negligence is.

Majority – says it is a RIL case and there is sufficient evidence to show negligence.

Traynor is the concurrence – does not like the RIL approach, he likes the SL.  He thinks that its too hard to show a RIL, its basically a SL case.  Call a spade a spade.  

Why SL should apply:


Policy ( manufacturer should bear the loss because he is the least cost avoider, he is most able to avoid the danger; loss-spreading analysis; corrective justice reasons – manufacturer has put this product in the stream of commerce so they should be liable; implied warranty of safety – this goes to K law. 

Restatements – reasons for SL for manufacturing defects

Increases manufacturing incentive to promote safe products, discourages consumption of dangerous products, reduces litigation costs, RIL does not work very well, manufacturer are cheaper insurers.

Alteration of the product would get you out of SL.

This is the rule now in CA and has been widely adopted.  

So who can you sue, other than the manufacturer?


The retailer


But the manufacturer is best suited to litigate this suit and the retailer would just indemnify the manufacturer anyway

R2d 402(a)


Liability for a defective condition by a seller


SL applies even though no K

Rtd 1 and 2

(1) one who sells defective product is liable

(2) sets out when a product is defective

a. manufacturing defect – departs from its intended design, even though all possible care was exercised.

b. Design defect – harm could have been reduced by adopting alternative design

c. Warning defect – inadequate instructions 

(3) sounds like RIL – infer that the cause was a manufacturing defect

a. scope of harm occurs as a result of product defect

b. cannot be solely the result of other causes 

Speller v. Sears, Roebuck, Co.

NY (2003)

Lower ct found for the Ds on SJ.  This court reverses.

Facts:  Ps decedent died in a house fire.  Ps claim it was started by improper wiring in the fridge and the Ds claim it was started by a grease fire on the stove.

Ds rely on the fire marshall but the P had experts that said that the fire was more likely started by the fridge.  

There was no direct evidence but the court allows this case to go forward – experts were able to rule out other causes as the likely cause.

Hypo 1 – does L have to establish whether there is a manufacturing defect or design defect?  SL only applies for manufacturing defect.  But the car is destroyed so there is a lack of evidence.  So she is going to rely on Rtd 3 to create an inference. It’s the type of act that would only occur in the case of a defect.  Maybe an argument for CN, but maybe not. Kind of weak.

Hypo 2 – can defect still be inferred, causation problem

(2)  Design Defects ( negligence applies


Has been manufactured as intended but the design itself is defective.  

R2d 402(a) – unreasonably dangerous standard for evaluating design defects


Few exceptions developed at the common law:  

(1) no defect is the problem is open and obvious (Campo)

(2) no defect if product caused injury when not used for an intended use

(3) no defect is product was altered by consumer

Harper and James excerpt (1956)

Critiques the open and obvious exception – we want to encourage manufacturers to make safety measures even if consumers were aware of condition.

Wade (1973)

Factors for evaluating unreasonably dangerous product

(1) utility

(2) safety –probability and safety of harm

(3) substitute products

(4) alternative designs

(5) user’s ability to avoid danger

(6) open and obvious

(7) availability of loss spreading

VW v. Young

MD Court of Appeals (1974)

P’s decedent was killed after being rear-ended.  Seat mechanism broke away and the driver hit his head, leading to the death.

P sued VW in DC on the claim that the design was defective.

Issue:  Whether or not the intended use of motor vehicles includes the car’s involvement in a collision?  Is it an intended use to get into a car accident or is it just about the car driving around?

This court held that there was a cause of action.  

The defect did not cause the collision but there is an argument that the defect increased the harm to the driver.  

Negligence of the driver – would the other driver be responsible for the death of the decedent?


Causation problem – actual cause, both the defect and the driver contributed, both should be liable.  PC issue – under the directness test, why is this not direct?  The driver of the Ford would say there was an intervening cause, the design defect.  Foreseeability test – the driver was a foreseeable P and there is harm that it is foreseeable, but what happened in the car was not really foreseeable.  The death was foreseeable, so the Ford driver is not get off for the death of the decedent.  There would be an apportionment of the liability most likely btw VW and the Ford driver.  But here, the P only sued VW, likely because this is more the money is.  

VW standpoint – it is foreseeable that a car will be in an accident.  But they are arguing that car’s are not intended to get into accident and they should not be accountable, there is no way to protect people by making crash-proof cars.  VW relies on the Evans case so show that the foreseeability notion is a slippery slope.  


Argues that intended use is for transportation, cant produce injury-proof cars, manufacturers are not insurers, and that the design requirements are a legislative function.

Larsen court – came out the other way, gave a broader interpretation of the intended use.

Court embraces Larsen, comes out with this rule: A car manufacturer is liable for a defect in design which the manufacturer could have reasonably foreseen would cause or enhance injuries on impact, which is not patent or obvious to the user, and which in fact leads to or enhances the injuries in a car collision.  

If people buy cars because they do well in the safety of cars, then arguably the intended use of a car is not just to drive but to get somewhere safely.  

Failure to conform with the safety regulations of the FDA preempts state tort law cause of action in the medical context ( Congress has to say this in the statute.  But here, not clear if tort law is preempted by federal regulation, tort law cause of action remains*** (NOT ON EXAM)

Evidence of negligence – custom, but not dispositive; failure to comply with statutory regulations

Design Defect Hypo


Can John succeed on a design defect claim?  J is assuming the risk.  If the standard was changed to only full size cars are safe, a lot of people would not be able to buy a car at all because the compact cars will disappear.  

Rule in the Young case – is this SL or negligence?


Has some element of reasonableness still even though it appears to be SL

Barker v. Lull Engineering Co.

CA Supreme Court (1978)

Trial court found for the Ds and the P appealed.

This court now reverses.

Facts:  P was injured while operating a high-lift loader.

Issue:  challenge to the jury instructions about whether the product was unreasonable dangerous – this court provides an alternative test:


A product is defective in design either if (1) the product has failed to perform as safely as an ordinary consumer would expect when used in a manner or (2) if in light of the relevant factors the benefits of the challenged design do not outweigh the risk of danger inherent in such design.

If it falls below consumer expectation, then the manufacturer is liable under SL.  If it meets consumer expectations, then we would do the risk benefit analysis of prong 2. 

Factors to consider in weighing the benefits and risks:  gravity of the danger, likelihood of danger, financial cost, adverse consequences to the product and to the consumer that would result from an alternative design.  

Application: P argues that the loader was defective in 4 ways: no seat belts, no outriggers, no automatic locking device, and no separate park gear.  

Ds argue that seat belts would prevent quick escape, outriggers were not needed if operated in its intended use, leveling device was more safe than alternative, and none of the transmission manufactured loaders with park gear.

Ds also argue that the P was inexperienced and his panic was the sole cause was the source of his injury (this can be used to show not fell below consumer’s expectations, causation challenge, or CN 

Burden shift – starts with the P to show that the product failed for consumer expectations and then the D is SL.  If cant show that, then do an alternative argument.  

Causation in the young case – both cause were “but for” causes, but neither cause was sufficient on its own – they were both necessary causes to cause the death.  Multiple causes – both parties would be liable for the amount they contributed to the injury or for the full amount and then that person can sue the other for contribution.

R2d 402(a) – laid out in a SL format, but one can argue that it is not SL in the case of design defects or warning defects because you are evaluating the reasonableness of the defect.  


The standard for all defects under the R2d is unreasonably dangerous



( dangerous to an extent beyond that which would be contemplated by the ordinary consumer – sounds alot like the consumer expectations doctrine

Exceptions to the unreasonably dangerous rule


Open and obvious (only applies under the R2d)


Not used for an intended use


Product was altered by the consumer

Caveat – alteration is foreseeable by the manufacturer, then manufacturer would not be exonerated.

Rtd Section 2(b)


Rejects consumer expectations test because the drafters determined that this was too difficult to assess and consumers may expect a product to be dangerous, but we want a product to be made safer regardless of whether consumers are aware or not.

Key here is the availability of a reasonable alternative design

Ways of determining design defects


Unreasonably dangerous( R2d and Young


Consumer expectations ( Barker


Risk benefit ( Barker and Rtd


Reasonable alternative design ( Rtd

But all boils down to two tests (some courts uses both and some use one or the other)


Risk benefit analysis (consider unreasonable dangerous and alternative design)


Consumer expectations (unreasonable dangerous still goes here , CA uses consumer expectations and risk benefit)

Wade factors go the risk benefit analysis in order to talk about unreasonable dangerous

Linegar v. Armour of America

8th Circuit (1990)

Jury found for the P, awarded the family 1.5 million on the basis that the bullet-proof vest was defectively designed.  D appealed.  This court reverses.

Facts: Decedent was killed during a routine traffic stop, he was killed in the line of duty.  None of the five shots penetrated the vest or caused injury.  He was killed by shots that hit other parts of his body not protected by the vest.

Missouri law – to recover under SL for defective design, the P must prove the D sold the product in the course of its business; the product was then in a defective condition unreasonably dangerous when put to a reasonably anticipated use; the product was used in the manner reasonably anticipated; and the P was damaged as a direct result of such defective condition.

This court holds that element two is not met – unreasonably dangerous based on consumer expectations.

The vest was neither defective or unreasonably dangerous – he used the vest precisely as expected and the vest stopped the bullets from hitting him where the vest covered.  It is open and obvious that a bullet could enter the body where the best did not cover.

How would this be analyzed under the Rtd – would consider risk benefits and reasonable alternative designs.


It does not matter that it is open and obvious because we want to require manufacturers to take safety precautions regardless of whether consumers are aware or not.

Factors for determining reasonableness of alternative designs


Magnitude and probability of the foreseeable risks


Instructions or warnings


Consumer expectations


Disadvantages

Production costs, maintenance costs, range of consumer choice

Arguments for and against as to having the alternative wrap around style – maybe it is more safe but also more heavy and the officers might not want to wear it at all.  If the vest was worn and a bullet went through, then there is a stronger case for there being a defect. 

Maybe there should have been a warning and this would have given the consumer the information about possibly choosing another vest.  A warning would not have made the vest safer but if would have informed the user.  

Hypo 2 for design defects


Fred’s best arguments – goes against his consumer expectations and all consumers that they would be electrocuted when changing the channel.  Under risk/benefit, better reception does not seen to outweigh being electrocuted. 


Pegasus’ best argument – assumption of risk, we adequately informed the consumer of the risk and the consumer made the choice ( libertarian arguments.  Maybe we need more info as to the alternative designs – maybe there were no better ways for Fred to get reception for his TV. 

Unavoidably unsafe products – allowed to stay on the market, example ( cigarettes

Hypo 3


Mary’s argument would be that there should not be above ground pools because we are assuming that this was the safest kind of liner.  The company should have known that diving would be a foreseeable misuse.


Splash Co – the pool was not being used for its intended use, not meant for diving.

Preemption – notion that federal law preempts state law


Federal law may explicitly preempt state law or may be implicit (field preemption or conflict preemption)


Where there is federal regulation, there is some express preemption so you cannot bring a claim under state tort law.  The Sc is shifting more toward this, more and more preemption. 

If a product does not conform, evidence that there is negligence ( negligence per se.

If a product does conform, may be some evidence that there is no design defect, but not dispositive.

Remedial measures – a lot of companies may design the product and make it safer, thus establishing that the product was defective for the P to claim. Some courts do not allow this information in as evidence.

(3)  Duty to Warn:

First consider whether any warning is necessary?

Then if you need a warning, was the warning given adequate? 

Finally was the warning the cause of the injury (from the perspective of the P)?

Rtd 2 (c) – risks of the harm could have been reduced by adequate warnings

MacDonald v. Ortho Pharmaceutical Corp.  

MASS (1985)

Issue:  The extent of a drug manufacturer’s duty to warn consumers of dangers inherent in the use of oral contraceptives.  

Jury found for the P and judge entered JNOV.  P appealed and the jury verdict was reinstated by this court.

Facts:  woman was using birth control pills and after about three yrs, she suffered a stroke and left her permanently disabled.  

This court held that there was a duty to warn – a warning is necessary (question 1)


So what is the extent of that duty?  The manufacturer’s duty is to provide the consumer written warnings conveying reasonable notice of the nature, gravity, and likelihood of known or knowable side effects, and advising the consumer to seek fuller explanation from the prescribing physician or other doctor of any such information of concern to the consumer.  

(question 2) What warning is adequate – comprehensible to the average user and conveying a fair indication of the nature and extent of the danger to the mind of a reasonably prudent person.

Here, the warning was not sufficient for the lay consumer, it was likely sufficient for the physician.  Specificity:  For some people, suffering a stroke would be worse than death because it can leave you paralyzed and make your life very awful.  

(question 3) There is an argument that if she knew the risk of stroke, she would not have taken the pills at all.  She claims to have read the warning and if it had included information about a stroke, then she would not taken the pills.  Because she read the warning, then maybe an adequate warning would have made a difference, given that there were many other forms of birth control.

Case against the physician for malpractice – perhaps, because the Dr only really warned about bloating, not a stroke. 

Why was telling the dr not good enough here ( because the prescription is only given annually and so there should be direct communication with the patient AND the patient really chooses to take the pill or not.  Intermediary doctrine is rejected here because of this.

Does the intermediary doctrine make sense outside of the birth control context?  Maybe people do not understand the warnings and need a dr.  A lot of drug companies are advertising directly to the consumers – and they do provide warnings, but how much on the TV?

Drs do not always know everything about every drug, so this weighs in favor of consumer choice.

Maybe drugs are in the category of ( unavoidable unsafe.  Maybe you want to risk having the side effects.  Here, the manufacturer would not be liable for a design defect, just has a duty to warn.

Dissent – manufacturers are not in a position to give warnings about medical side effects.

Food allergies


Reese’s peanut butter cups and Hershey’s extra dark


What is the duty to warn ( only need to warn of anything that is not obvious

Warning defect hypo


What are sandra’s best arguments – not clear from the warning that the fumes would be so potent, was would a reasonable person assume?  Most people may not know that the pilot light would be a source of fire. Reasonable minds could differ so there needs to be a warning – what would be adequate? If you are too specific, then you are increasing your liability.


Sticky tapes best arguments – warning was specific and properly directed at the consumer

With warning defects, a lot of this is about how much you trust consumers.  If one thinks that there could be adequate warnings, then you are leaving things up to the consumer to choose in spite of those warnings.  If this gets you off the hook for warning defect, should there still be a case for design defect because you have basically disclosed the design defect.

Defenses to Product Liability


Attack the prima facie case


Affirmative defenses – CN and A of R (this could come in with the warning defect and design defect together)


Product’s misuse – altered by the consumers


Prescription drug context – off label uses, physician is prescribing not for its intended use, often you have to sign release.

Privacy


Similar to IIED, basically a dignitary harms.  We are back to intentional torts.  We could have grouped privacy in with those earlier ones, but privacy is often not included in first year courses.  Very common in the entertainment industry.

History


Policy is very important in torts.  Common law has evolved so policy often comes in to help cover certain wrongs in torts not covered elsewhere.

Warren and Brandeis – The Right to Privacy


Probably one of the most influential law review article of all time.  Created a right to privacy in tort law and con law.

Right to privacy = the right to be left alone.

They justify this in part by resorting to prior precedent and other areas of the CL that protect similar things: assault, nuisance law, protection of intelligible rights (copyright).

Their concern was yellow journalism ( gossip

Note case – Roberson case


Roberson did not win, the court did not want to recognize the right to privacy

But Roberson was rejected in 1905 – Pavesich case in Georgia – company used man’s image and made false statements.

Both of these cases had claims based on unjust enrichment – commercial gain for another AND reputation harm, both of these people were not well-known or in the public eye.

Prosser came along and divided privacy torts into more clear categories

FOUR CATEGORIES


Intrusion upon seclusion


Public disclosure of private facts


False light


Appropriation

(1) Intrusion


R2d 652(b)


Intentional intrusion


Upon area that is secluded


Highly offensive to a reasonable person (highly***)

Nader v. General Motors Corp.

NY Court of Appeals (1970)

Nader wrote a book, Unsafe at Any Speed, talked about how unsafe the Corvair was.  GM started harassing Nader.  There were a number of things that GM did to Nader – kept him under surveillance, entrapment, questioning about religious beliefs, etc. 

Lower court upheld the cause of action for intrusion.  D appealed.

Issue: whether the Ps allegations are actionable as violations of the right of privacy under the law of DC?

This court held that only two activities were actionable for invasion of privacy


Interviewing people Nader knew – information already known to others, if you tell your friends – that is not secluded information.


Accosting by girls – not intrusion, it was done in public, may be offensive though


Harassing calls – no intrusion either, not meant to gather private information


Wiretapping – this is sufficient for intrusion


Surveillance, bank incident – this could be sufficient, overzealous surveillance in a public place goes too far

You cannot really bring a suit like this against the government for surveillance – problem in London with a lot of surveillance.

Newsworthiness is not a defense for intrusion.

(2) Public disclosure of private facts

R2d 652d


One who gives publicity to a matter concerning the private life of another



Would be highly offensive to a reasonable person



Is not of legitimate of public concern

Sidis v. F.R. Publishing Corp.

2d Circuit (1940)

Facts:  P was a child prodigy, he is suing the New Yorker for publishing an article about him as an adult, about 27 yrs after we was in the news as a child prodigy.  He is not happy about this publicity, he kind of was a recluse. 

The court concludes that this article was private, the information was private – about what he was doing in his life now.  But wasn’t this already known – if everything about someone is already known, then these torts become meaningless.  

 Legitimate public concern – there is an argument by the D that this is newsworthy and he was a public figure.  He was deemed a public figure as a child even if he did not want this.  But because the article was about his prodigy days, this is still about his public life.

What about facts about his private life, his personality, his hobbies, his sexual orientation?


Would this be offensive to a reasonable person?

The court affirms the DC’s judgment that the P has no cause of action.

Cox Broadcasting Corp. v. Cohn

420 U.S. 469 (1975)

Issue:  Whether there is a cause of action for damages for invasion of privacy caused by the publication of the name of a deceased rape victim which was publicly revealed in connection with the prosecution of the crime?

The name was taken from the indictments.  This was public information/public records – not private facts.  The press argues that this is of public interest, and the press should be able to publish anything that is found in public records.   The story itself may have interest but not the victim’s name.  Its hard to argue that the name is secret, but it can be argued that it is within the zone of secrecy that should not be revealed. 

The court here allowed the publication of the name – reversed the GA SC that allowed the claim to go forward.

Cox case – she was already dead, her family’s privacy was impacted, but this is not as compelling.  

Distinguishing Cox from these cases

Briscoe case – former criminal, the court held that the P had a right for a jury trial – revealing his name was no news value.  Public policy- we want criminal to reform, they are still alive and they have an opportunity to participate in society and make a contribution.  But it is hard to distinguish. Why are we protecting criminals and not a victim of a crime?

Melvin case – similar to Briscoe, she was a reformed prostitute.  Court allowed her to bring her cause of action.  

(3) False Light – not true, not a based on a fact

Defamation – another tort, very complicated body of law –tort for when there is a publication or oral statements about someone that is untrue.  

Why bring defamation action is you can bring false light?  Defamation has higher burden of proof.  Where false light comes into play is where the case does not rise to the level of defamation.   Defamation action has to be disparaging.

R2d 652(e)


One gives publicity in false light


Highly offensive


Actor had knowledge of or acted in reckless disregard ( NY v Sullivan, actual malice, taken from defamation

One could sue for defamation and false light – torts can overlap

Time, Inc. v. Hill

385 U.S. 374 (1967)

Play was made, the complaint of the family alleged that the play that was covered by Life Magazine made it seem that it was based on the family’s situation when they were held hostage in their home.

They would not have been able to make out a disparaging claim for defamation.

Court remanded the case because not known if the magazine was aware that this was false or not.

Hypo – Britney’s biography – portrays her in false light.  She can sue for this, but also because she is a commercial individual, she can write her own biography.  She can also sue for appropriation or right of publicity.  

(4)  Appropriation or the right of publicity (NOT BEING TESTED ON, BUT BE AWARE OF POLICY ARGUMENTS RAISED HERE)


( appropriation is really only about torts and right of publicity has expanded more to commercial stuff and property issues

R2d 652(c)


One who appropriates to his own use or benefit the name or likeness of another is subjet to liability to the other for invasion of his privacy

Rtd of Unfair Competition 46


One who appropriates the commercial value of a person’s identity by using without consent the person’s names, likeness, or other indicia of identity for purposes of trade is subject to liability

Anyone can sue for right of publicity, but our recovery would be low.  The people getting the big recovery are celebrities, they have an image to protect and it is valuable 

CA has both CL right of publicity and statutory right of publicity

White v. Samsung Electronics Amercica, Inc.

9th Circuit (1992)

D ran a commercial, asked White to be in a commercial, but she declined.  In the future, they were trying to show that the TVs would still be around and so would wheel of fortune.

She lost under CA Civil Code – not her name or likeness, it was a robot

But under CA CL – the court said that this was nevertheless an INDICATOR of her identity = persona.  Some scholars and judges did not like this – goes against First Amd.

Example: Kozinski – overprotecting IP can be harmful

Crossroads btw torts and property and con law – does someone own their identity?

Zacchini v. Scripps-Howard Broadcasting Co.

433 U.S. 562 (1977)

A performer at a local farm did a human cannonball act, the nightly news showed his entire act, trajectory out of the canon ball.  He sued for right of publicity violation.

The story used the name and likeness, but the news argued 1st Amd right to show the news.  But the court said no, your right does not go this far.  By showing the entire act, the news destroyed his value.  

Comic book case – comic book creator cannot be protected if a newsperson cannot be protected
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